
PHYSICS

BOOKS - MTG PHYSICS (ENGLISH)

COMMUNITCATION SYSTEMS

Exercise

1. Who invented world wide web?

A. J.C.R. Licklider

B. Tim Berners-Lee

C. Alexander Graham Bell

D. Samuel F,B. Morse

Answer: B

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PPXzVSFNUn0b


Watch Video Solution

2. Essential elements of a communication system are

A. transmitter and receiver

B. reciever and communication channel

C. transmitter and communication channel

D. transmitter, comunication channel and receiver

Answer: D

Watch Video Solution

3. Which of the following is an example of point to point communication

mode?

A. Radio

B. Television

https://dl.doubtnut.com/l/_PPXzVSFNUn0b
https://dl.doubtnut.com/l/_pAxowleKOd54
https://dl.doubtnut.com/l/_kWG6YGqKlNyN


C. Telephony

D. All of these

Answer: C

Watch Video Solution

4. Which among following is not a basic terminology used in electronic

communication systems?

A. Transducer

B. Transmitter

C. Telegraph

D. Attenuation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kWG6YGqKlNyN
https://dl.doubtnut.com/l/_vFRtdTWbinli
https://dl.doubtnut.com/l/_3PZdwcZi4SNh


5. Which of the following is not transducer?

A. Loudspeaker

B. Amplifier

C. Microphone

D. All of these

Answer: B

Watch Video Solution

6. The loss of strength of a signal while propagating through a medium is

known as

A. reception

B. absorption

C. trasnmission

D. attenuation

https://dl.doubtnut.com/l/_3PZdwcZi4SNh
https://dl.doubtnut.com/l/_FVo74FM56lhz


Answer: D

Watch Video Solution

7. The process of increasing the strength of a signal using an electronic

circuit is called.

A. amplification

B. modulation

C. demodulation

D. transmission

Answer: A

Watch Video Solution

8. Modem is a device which performs

https://dl.doubtnut.com/l/_FVo74FM56lhz
https://dl.doubtnut.com/l/_QNeeigoEeOtu
https://dl.doubtnut.com/l/_xxXHQRxax1sl


A. modulation

B. demodulation

C. rectification

D. modulation and demodulation

Answer: D

Watch Video Solution

9. Modulation is the process of superposing

A. low frequency audio signal on high frequency radio waves.

B. low frequency radio signals on low frequency audio wave.

C. high frequency radio signal on low frequency audo signal.

D. high frequency audio signal on low frequency radio waves.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xxXHQRxax1sl
https://dl.doubtnut.com/l/_FuHWsMOC8bOy


10. The device which is a combination of a receiver and a transmitter is

A. Amplifier

B. Repeater

C. Transducer

D. Modulator

Answer: B

Watch Video Solution

11. Large bandwidth for higher data rate is achieved by using

A. high frequency carrier wave

B. high frequency audio wave

C. low frequency carrier wave

https://dl.doubtnut.com/l/_FuHWsMOC8bOy
https://dl.doubtnut.com/l/_UDGbOfNTiUah
https://dl.doubtnut.com/l/_gKm8K9K3H8sM


D. low frequency audio wave

Answer: A

Watch Video Solution

12. In a video signal for transmission of picture. What value of bandwidth

is used in communication system?

A. 2.4 MHz

B. 4.2MHz

C. 24MHz

D. 42MHz

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gKm8K9K3H8sM
https://dl.doubtnut.com/l/_rCVJQmw8d8Hk


13. Which one of the following statement is correct?

A. a. A single geostationary satellite can cover the whole part of the

earth for microwave communication.

B. b. Atleast three geotationary satellities in the same orbit around

earth can cover the whole part of the earth for microwave

communication.

C. c. The first Indian communication satellite is Telstar.

D. d.The satellite communication is not like the line of sight microwave

communication.

Answer: B

Watch Video Solution

14. Which of the following is an example of broadcast mode of

communication?

https://dl.doubtnut.com/l/_jmXAuHLVRGU4
https://dl.doubtnut.com/l/_2zAq3GpMcTTr


A. Radio

B. Television

C. Mobile

D. Both a and b

Answer: D

Watch Video Solution

15. Which of the following device is full duplex?

A. Mobile phone

B. Walky-talky

C. Loud speaker

D. Radio

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2zAq3GpMcTTr
https://dl.doubtnut.com/l/_4hCKGTMRt8Gq


16. FM boradcast is preferred over AM broadcast because

A. it is less noisy.

B. reproduction is of much better quality.

C. it is more noisy.

D. both a and b

Answer: D

Watch Video Solution

17. The frequency band used in the downlink of s atellite communication

is

A. 9.5 to 2.5 GHz

B. 8 96 to 0901 MHz

C. 3.7 to 4.2 GHz

https://dl.doubtnut.com/l/_4hCKGTMRt8Gq
https://dl.doubtnut.com/l/_NgZnQF8E8A11
https://dl.doubtnut.com/l/_wX20IVy2OTnW


D. 840 to 935 MHz

Answer: C

Watch Video Solution

18. The radio waves of frequency  to  belong to

A. high frequency band

B. very high frequency band

C. ultra high frequency band

D. super high frequency band

Answer: B

Watch Video Solution

300MHz 3000MHz

https://dl.doubtnut.com/l/_wX20IVy2OTnW
https://dl.doubtnut.com/l/_ITc2RGCLzSt4


19. For base station to mobile communication, the required frequency

band is

A. 540-1600 KHz

B. 200-325MHz

C. 5.9-6.42GHz

D. 840-935 MHz

Answer: D

Watch Video Solution

20. Match the column I with column II. 

https://dl.doubtnut.com/l/_l89PH91lXbAB
https://dl.doubtnut.com/l/_0V6kg18dQuMH


A. A-(q),B-(r), C-(s),D-(p)

B. A-(q),B-(s),C-(q),D-(r)

C. A-(r),B-(p),C-(q),D-(s)

D. A-(r),B-(s),C-(p) ,D-(q)

Answer: C

Watch Video Solution

21. In optical communication system operating at 1200nm, only 2% of the

source frequency is available for TV t ransmission having a bandwidth of

5 MHz. the number of TV channels that can be transmitted is

A. 2 million

B. 10 million

C. 0.1 million

D. 1 million

https://dl.doubtnut.com/l/_0V6kg18dQuMH
https://dl.doubtnut.com/l/_CjyLXRUboXDI


Answer: D

Watch Video Solution

22. A microwave telephone link operating at the central frequency of

10GHz has been established if 2% of this is available for microwave

communication channel. Then how many telephone channels can be

simultaneously granted if each telephone is allotted a bandwidth of 8

KHz?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.5 × 103

3.5 × 102

2.5 × 104

4.5 × 106

https://dl.doubtnut.com/l/_CjyLXRUboXDI
https://dl.doubtnut.com/l/_UBWQ6FxkukYT
https://dl.doubtnut.com/l/_FPX6SY4oE8kF


23. A band width of 5 MHz is available for AM transmission. If the

maximum audio signal frequency used for modulating the carrier is not

to exceed 5 kHz, how many stations can be broad cast within this band

simultaneously without interfering with eachother?

A. 200

B. 300

C. 400

D. 500

Answer: D

Watch Video Solution

24. A communication between a fixed base station and several mobile

units, located on ships or aircraft utilising two way radio communication

in the VHF and UHF is of frequency band

A. 3 to 30 MHz

https://dl.doubtnut.com/l/_FPX6SY4oE8kF
https://dl.doubtnut.com/l/_IGAHxBF8nCTi


B. 30 to 300 MHz

C. 30 to 470MHz

D. 30 to 600 MHz

Answer: C

Watch Video Solution

25. Ground wave have wavelength

A. a) less than that of sky waves

B. b) greater than that of sky waves

C. c) less than that of space waves

D. d) equal to that of space waves

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IGAHxBF8nCTi
https://dl.doubtnut.com/l/_JCKY2xiLP1MM
https://dl.doubtnut.com/l/_G6zpV0yAT5RE


26. The mode of propagation used by short wave broadcast services is

A. space waveq

B. sky wave

C. ground wave

D. both and and c

Answer: B

Watch Video Solution

27. The skip zone in radio wave trasmission is that range where

A. there is no reception of either ground wave or sky wave

B. the reception of ground wave is maximum b ut that of sky wave is

minimum

https://dl.doubtnut.com/l/_G6zpV0yAT5RE
https://dl.doubtnut.com/l/_d7vWZXpitG1s


C. the reception of ground wave is minimum, but that of sky wave is

maximum

D. the reception of both ground and sky wave is maximum.

Answer: A

Watch Video Solution

28. Which one of the following statements is wrong?

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Satellite communication is useful for the frequencies above 30 MHz.

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. Space wave propagation takes place through tropospheric space.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_d7vWZXpitG1s
https://dl.doubtnut.com/l/_uCUjhmDSrJYB


29. The waves that are bent down by the ionosphere are

A. grund waves

B. surface waves

C. space waves

D. sky waves

Answer: D

Watch Video Solution

30. The maximum line-of -sight distance  between two antennas

having heights  and  above the earth is

A. 

B. 

C. 

dM

hT HR

√R(hT + hR)

√2R/(hT + hR)

√RhT + √2RhR

https://dl.doubtnut.com/l/_uCUjhmDSrJYB
https://dl.doubtnut.com/l/_pZ4cQGaAQ4Nz
https://dl.doubtnut.com/l/_mo2gOeBRYRBz


D. 

Answer: D

Watch Video Solution

√2RhT + √2RhR

31. Frequencies in the UHF range normally propagate by means of

A. ground waves

B. sky wave

C. surface waves

D. space waves

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mo2gOeBRYRBz
https://dl.doubtnut.com/l/_3EYkViB97JN2


32. If the whole earth is to be connected by LOS communication using

space waves ( no restriction of antenna size or tower height), what is the

minimum no of antennaas required ? Calculate the tower height of these

antennas in terms of earth's radius?

A. 2

B. 3

C. 4

D. 6

Answer: D

Watch Video Solution

33. A ground receiver in line-of-sight communication cannot receive direct

waves due to

A. its low frequency

https://dl.doubtnut.com/l/_Du7ybopAsrh7
https://dl.doubtnut.com/l/_ZT033flVNldE


B. curvature of earth

C. its high intensity

D. smaller antenna

Answer: B

Watch Video Solution

34. Which of the following modes is used for line of sight

A. Ground wave

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. Space wave

D. All of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ZT033flVNldE
https://dl.doubtnut.com/l/_7vhAbH7gV26H
https://dl.doubtnut.com/l/_yz3ViCw2nEON


35. Through which mode of propagation, the radio waves can be sent

from one place to another

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. space wave propagation

D. all of them

Answer: D

Watch Video Solution

36. Which of the following frequencies will be suitable for beyond the

horizon communication using sky waves?

A. 10KHz

B. 10MHz

https://dl.doubtnut.com/l/_yz3ViCw2nEON
https://dl.doubtnut.com/l/_tITR1FDpxWnP


C. 1GHz

D. 1000GHz

Answer: B

Watch Video Solution

37. A TV transmitting antenna is 125 m tall. How much service area this

transmitting antenna cover, if the receiving antenna is at the ground

level? Radius of earth .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= 6400km

3258km2

4180km2

2510km2

1525km2

https://dl.doubtnut.com/l/_tITR1FDpxWnP
https://dl.doubtnut.com/l/_5WrRsx2SnDz3


38. A transmitting antenna at the top of the tower has a height 18 m and

the height of the receiving antenna is 32m. The maximum distance

between them for satisfactory communciation in line of sight mode is

(Radius of earth )

A. 15.15km

B. 21.25km

C. 30.45km

D. 35.42km.

Answer: D

Watch Video Solution

= 6.4 × 106m

39. A transmitting antenna of height 20 m and the receiving antenna of

height h are separated by a distance of 40km for satisfactory

communication in line of sight mode. Then the value of h is

https://dl.doubtnut.com/l/_5WrRsx2SnDz3
https://dl.doubtnut.com/l/_PJaBWvKYOnel
https://dl.doubtnut.com/l/_WFCDVSbGk9ue


A. 40m

B. 45m

C. 30m

D. 25m

Answer: B

Watch Video Solution

40. A TV transmission tower antenna is at a height of 20m. The

percentage increase in area covered in case if the receiving antenna is at

ground level to that at a height of 25 m is (Radius of earth

)

A. 2.48

B. 

C. 

D. 

= 6.4 × 106m

348.9 %

150 %

360.2 %

https://dl.doubtnut.com/l/_WFCDVSbGk9ue
https://dl.doubtnut.com/l/_2ZVALoFwuyDt


Answer: B

Watch Video Solution

41. By what percentage will the transmission range of a T.V. tower be

affected when the height of the tower is increased by 21% ?

A. 0.1

B. 0.2

C. 0.3

D. 0.4

Answer: A

Watch Video Solution

42. A TV transmission tower has a height of 240 m. Signals broadcast

from this tower will be received by LOS communication at a distance of

https://dl.doubtnut.com/l/_2ZVALoFwuyDt
https://dl.doubtnut.com/l/_Oz6GNowjs7OY
https://dl.doubtnut.com/l/_UFUDeSqO85ZM


(assume the radius of earth to be )

A. 100km

B. 110km

C. 55km

D. 120km

Answer: C

Watch Video Solution

6.4 × 106m

43. A fax message is to be sent from Delhi to washington via a

geostationary satellite. Calculate the minimum time delay between 

the dispatch and its getting received. Take 

height of the geostationary satellite = 36000 

km.

A. 

B. 

72 × 103km

12 × 103km

https://dl.doubtnut.com/l/_UFUDeSqO85ZM
https://dl.doubtnut.com/l/_slya6ni3Xr4M


C. 

D. 

Answer: A

Watch Video Solution

27 × 103km

18 × 103km

44. A 50 MHz sky wave sky wave takes 4.04 ms to reach a receiver via re-

transmission from a satellite 600 km above earth's surface. Assuming re-

transmission time by satellite negligible, find the distance between

source and receiver. If communication between the two was to be done

by Line of sight (LOS) method,what should be the size of transmitting

antenna ?

A. 606km

B. 170km

C. 340km

D. 280km

https://dl.doubtnut.com/l/_slya6ni3Xr4M
https://dl.doubtnut.com/l/_pqSslutcOiys


Answer: B

Watch Video Solution

45. What should be the length of the dipole antenna for a carrier wave of

frequency  Hz?

A. 1m

B. 0.5m

C. 2m

D. 2.5 m

Answer: B

Watch Video Solution

3 × 108

46. A radio can tune to any station in 7.5 MHz to 12MHz band. The

corresponding wavelength band is

https://dl.doubtnut.com/l/_pqSslutcOiys
https://dl.doubtnut.com/l/_VvwB6zdl1E7M
https://dl.doubtnut.com/l/_G6Lwnw2HPjOx


A. 25m-40m

B. 10m-30m

C. 20-40m

D. 25m-35m

Answer: A

Watch Video Solution

47. On a particular day, the maximum frequency reflected from the

ionosphere is 10 MHz. On another day, it was found to increase to 11 MHz.

Calculate the ratio of the maximum electron densities of the ionosphere

on the two days. Point out a plausible explanation for this.

A. 1.21

B. 0.82

C. 

D. 

0.50

0.25

https://dl.doubtnut.com/l/_G6Lwnw2HPjOx
https://dl.doubtnut.com/l/_ysyfe2Ho6Jde


Answer: A

Watch Video Solution

48. In frequency modulation

A. the amplitude of modulated wave varies as frequency of carrier

wave

B. the frequency of modulated wave varies as amplitude of

modulating wave

C. the amplitude of modulated wave varies as amplitude of carrier

wave

D. the frequency of modulated wave varies as frequency of modulating

wave

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ysyfe2Ho6Jde
https://dl.doubtnut.com/l/_3kjniTcXNzZj


49. Audio signal cannot be transmitted because

A. the signal has more noise.

B. the signal cannot be amplified for distance communication.

C. the transmitting antenna length is very small to design.

D. the transmitting antenna length is very large and impracticable.

Answer: D

Watch Video Solution

50. The modulation in which pulse. Duration varies in accordance with the

modulating signal is called

A. PAM

B. PPM

C. PWM

https://dl.doubtnut.com/l/_3kjniTcXNzZj
https://dl.doubtnut.com/l/_7O8Zm6NmytcL
https://dl.doubtnut.com/l/_eOEXmr0gYoM5


D. PCM

Answer: C

Watch Video Solution

51. Which of the following is digital modulation technique?

A. PCM

B. PAM

C. PPM

D. PTM

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_eOEXmr0gYoM5
https://dl.doubtnut.com/l/_BheK69QT3aDr


52. If both the length of an antenna and the wavelength of the signal to

be transmitted are doubled, the power radiated by the antenna

A. is doubled

B. is halved

C. remains constant

D. is quadrupled

Answer: C

Watch Video Solution

53. A 300W carrier is modulated to a depth 75%. The total power in the

modulated wave is

A. 200W

B. 284W

C. 320W

https://dl.doubtnut.com/l/_OsfGx4y7BEFR
https://dl.doubtnut.com/l/_dIAOHHgs4DcB


D. 384W

Answer: D

Watch Video Solution

54. An audio signal of 15 kHz frequency cannot be transmitted over long

distance without modulation because.

A. the size of the required antenna would be least 5 km which is not

conveient.

B. the audio signal can not be trasmitted through sky waves.

C. effective power transmitted would be very low. If the size of the

antenna is less than 5 km.

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dIAOHHgs4DcB
https://dl.doubtnut.com/l/_SpJPciZQZ4ej


55. A signal wave of frequency 12 kHz is modulated with a carrier wave of

frequency 2-51 MHz. The upper and lower side band frequencies are

respectively.

A. 2512 KHz and 2508KHz

B. 2522KHz and 2488KHz

C. 2502KHz and 2498KHz

D. 2522KHz and 2498KHz

Answer: D

Watch Video Solution

56. A message signal of frequency 10 kHz and peak voltage 10 volt is used

to modulate a carrier of frequency 1 MHz and peak voltage 20 volt.

Determine (a) modulation index (b) the side bands produced.

https://dl.doubtnut.com/l/_SpJPciZQZ4ej
https://dl.doubtnut.com/l/_4p7euc7aOyag
https://dl.doubtnut.com/l/_ajj5gdNDpl4x


A. 1000 KHz, 990KHz

B. 1010KHz,990KHz

C. 990KHz,1000KHz

D. 1010KHz,1000KHz

Answer: B

Watch Video Solution

57. The maximum amplitude of an AM wave is found to be 15 V while its

minimum amplitude is found to be 3 V.What is the modulation index?

A. 

B. 

C. 

D. 

Answer: B

3

2

2

3

1

2

1

3

https://dl.doubtnut.com/l/_ajj5gdNDpl4x
https://dl.doubtnut.com/l/_PcnNkNiSo9XD


Watch Video Solution

58. A modulating signal is a square wave as shown in figure. 

 


The carrier wave is given by 

. 


The modulation index is

A. 0.2

B. 0.3

C. 0.4

D. 0.5

Answer: D

Watch Video Solution

c(t) = 2 sin(8πt)volt

https://dl.doubtnut.com/l/_PcnNkNiSo9XD
https://dl.doubtnut.com/l/_X3Qx1iQ7YBcg


59. A sinusoidal voltage amplitude modulates another sinusoidal voltage

of amplitude 2 kV resulting in two side bands of amplitude 200 V. Find

the modulation index.

A. 0.2

B. 0.3

C. 0.4

D. 0.5

Answer: A

Watch Video Solution

60. In an amplitude modulation with modulation index 0.5 the ratio of the

carrier wave to that of side band in the modulated wave is

A. 4: 1

https://dl.doubtnut.com/l/_X3Qx1iQ7YBcg
https://dl.doubtnut.com/l/_f29x5zw3Mc19
https://dl.doubtnut.com/l/_Ti4Mkn2EJZCH


B. 

C. 

D. 

Answer: A

View Text Solution

1: 4

1: 3

2: 1

61. A carrier wave of peak voltage  is used to transmit a message

signal. The peak voltage of the modulating signal in order to have a

modulation index of  is

A. 6V

B. 7V

C. 8V

D. 9V

Answer: D

12V

75 %

https://dl.doubtnut.com/l/_Ti4Mkn2EJZCH
https://dl.doubtnut.com/l/_xqPZ36G0gLfE


View Text Solution

62. An amplitude modulated wave is as shown in figure. Calculate (i) the

percentage modulation, (ii) peak carrier voltage and , (iii) peak value of

information voltage. 

A. 30V,20V

B. 10V,15V

C. 15V,30V

D. 20V,35V

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_xqPZ36G0gLfE
https://dl.doubtnut.com/l/_KGCejFl1U7hj


View Text Solution

63. Compute  product of a tuned amplifer circuit required to generate

a carrier  of  for amplitude modulation

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

LC

wave 1MHz

1.5 × 10− 14s

1.2 × 10− 12s

3.2 × 10− 12s

2.5 × 10− 14s

64. The frequency response curve (figure) for the filter circuit used for

production of AM wave should be 

https://dl.doubtnut.com/l/_KGCejFl1U7hj
https://dl.doubtnut.com/l/_eJpJ2V92sIoE
https://dl.doubtnut.com/l/_aCoOzCpIIGSo


A. i followed by ii

B. ii followd by i

C. iii

D. all of these

Answer: D

Watch Video Solution

65. In which of the following remote sensing technique is not used?

A. Medical treatment

B. Pollution

C. Wetland mapping

D. Ground water survey

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aCoOzCpIIGSo
https://dl.doubtnut.com/l/_Hf4CsxplLTY9


66. Identify the incorrect statement from the following

A. AM detection is carried out using a rectifier and an envelope

detector.

B. Pulse position denotes the time of rise or fall of the pulse

amplitude.

C. Modulation index  is kept  1, to avoid distoriton.

D. Facsimile (FAX) scans the contents of the document to create

electronic signals.

Answer: C

Watch Video Solution

μ ≥

67. The essential condition for demodulation is

https://dl.doubtnut.com/l/_Hf4CsxplLTY9
https://dl.doubtnut.com/l/_dFjX4GiZ4iBn
https://dl.doubtnut.com/l/_nMCgoF72g3Q8


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

vc < < RC

< < RC
1

vc

> > RC
1

vc

vc > > RC

68. In a diode AM detector with the output circuit consists of R=  and

 would be more suitable for detecting a carrier signal of

A. 1MHz

B. 0.1 MHz

C. 0.5MHz

D. 10MHz

Answer: D

1MΩ

C = 1pF

https://dl.doubtnut.com/l/_nMCgoF72g3Q8
https://dl.doubtnut.com/l/_ywPLgmQLg3bV


Watch Video Solution

69. Figure (EP) shows a communication system. What is the output power

when input signals is of 1.01 mW? [ gain in . 

A. 90mW

B. 101mW

C. 1112mW

D. 120mW

Answer: B

Watch Video Solution

dB = 10 log10(P0 /Pt)]

https://dl.doubtnut.com/l/_ywPLgmQLg3bV
https://dl.doubtnut.com/l/_uO0j7QI0vyOP
https://dl.doubtnut.com/l/_dfFDvhhjEy7m


70. (i) The intensity of a light pulse travelling along a communication

channel decreases exponentially with distance x according to the relation

, where  is the intensity at  and  is the attenuation

constant. 

Show that the intensity reduces by 75 percent after a distance of  


(ii) Attenuation of a signal can be expressed in decibel (dB) according to

the relation 

dB  What is the attenuation in  for an optical

fibre in which the intensity falls by 50 percent over a distance of 50 km?

A. 0.7

B. 0.75

C. 0.8

D. 0.85

Answer: B

Watch Video Solution

I = I0e
−αx I0 x = 0 α

ln 4

α

= 10 log10(I /I0). dB/km

https://dl.doubtnut.com/l/_dfFDvhhjEy7m
https://dl.doubtnut.com/l/_oCVX6iayegz3


71. Who invented world wide web?

A. J.C.R. Licklider

B. Tim Berners-Lee

C. Alexander Graham Bell

D. Samuel F,B. Morse

Answer: B

Watch Video Solution

72. Essential elements of a communication system are

A. transmitter and receiver

B. reciever and communication channel

C. transmitter and communication channel

D. transmitter, comunication channel and receiver

https://dl.doubtnut.com/l/_oCVX6iayegz3
https://dl.doubtnut.com/l/_OeClFSqCCBA6


Answer: D

Watch Video Solution

73. Which of the following is an example of point to point communication

mode?

A. Radio

B. Television

C. Telephony

D. All of these

Answer: C

Watch Video Solution

74. Which among following is not a basic terminology used in electronic

communication systems?

https://dl.doubtnut.com/l/_OeClFSqCCBA6
https://dl.doubtnut.com/l/_QzZawnAuuG8R
https://dl.doubtnut.com/l/_Ax77Zazovde8


A. Transducer

B. Transmitter

C. Telegraph

D. Attenuation

Answer: C

Watch Video Solution

75. Which of the following is not transducer?

A. Loudspeaker

B. Amplifier

C. Microphone

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ax77Zazovde8
https://dl.doubtnut.com/l/_t0k9AkxUGej6


76. The loss of strength of a signal while propagating through a medium

is known as

A. reception

B. absorption

C. trasnmission

D. attenuation

Answer: D

Watch Video Solution

77. The process of increasing the strength of a signal using an electronic

circuit is called.

A. amplification

B. modulation

https://dl.doubtnut.com/l/_t0k9AkxUGej6
https://dl.doubtnut.com/l/_K46E0wZocZBc
https://dl.doubtnut.com/l/_mwlR3hgDNVEM


C. demodulation

D. transmission

Answer: A

Watch Video Solution

78. Modem is a device which performs

A. modulation

B. demodulation

C. rectification

D. modulation and demodulation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mwlR3hgDNVEM
https://dl.doubtnut.com/l/_HtOig5RB4f1M


79. Modulation is the process of superposing

A. low frequency audio signal on high frequency radio waves.

B. low frequency radio signals on low frequency audio wave.

C. high frequency radio signal on low frequency audo signal.

D. high frequency audio signal on low frequency radio waves.

Answer: A

Watch Video Solution

80. The device which is a combination of a receiver and a transmitter is

A. Amplifier

B. Repeater

C. Transducer

D. Modulator

https://dl.doubtnut.com/l/_lZMPiqOkU2af
https://dl.doubtnut.com/l/_hiwCZt85F9TT


Answer: B

Watch Video Solution

81. Large bandwidth for higher data rate is achieved by using

A. high frequency carrier wave

B. high frequency audio wave

C. low frequency carrier wave

D. low frequency audio wave

Answer: A

Watch Video Solution

82. In a video signal for transmission of picture. What value of bandwidth

is used in communication system?

https://dl.doubtnut.com/l/_hiwCZt85F9TT
https://dl.doubtnut.com/l/_7AORDgLEHGmK
https://dl.doubtnut.com/l/_XwlqXdbmPx7T


A. 2.4 MHz

B. 4.2MHz

C. 24MHz

D. 42MHz

Answer: B

Watch Video Solution

83. Which one of the following statement is correct?

A. A single geostationary satellite can cover the whole part of the

earth for microwave communication.

B. Atleast three geotationary satellities in the same orbit around

earth can cover the whole part of the earth for microwave

communication.

C. The first Indian communication satellite is Telstar.

https://dl.doubtnut.com/l/_XwlqXdbmPx7T
https://dl.doubtnut.com/l/_LYSXnMJxXWAe


D. The satellite communication is not like the line of sight microwave

communication.

Answer: B

Watch Video Solution

84. Which of the following is an example of broadcast mode of

communication?

A. Radio

B. Television

C. Mobile

D. Both a and b

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LYSXnMJxXWAe
https://dl.doubtnut.com/l/_UFT7ik7yVIDW
https://dl.doubtnut.com/l/_FPFyIpMmYu3Y


85. Which of the following device is full duplex?

A. Mobile phone

B. Walky-talky

C. Loud speaker

D. Radio

Answer: A

Watch Video Solution

86. FM boradcast is preferred over AM broadcast because

A. it is less noisy.

B. reproduction is of much better quality.

C. it is more noisy.

D. both a and b

https://dl.doubtnut.com/l/_FPFyIpMmYu3Y
https://dl.doubtnut.com/l/_VyNuFZzDaYwu


Answer: D

Watch Video Solution

87. The frequency band used in the downlink of s atellite communication

is

A. 9.5 to 2.5 GHz

B. 8 96 to 0901 MHz

C. 3.7 to 4.2 GHz

D. 840 to 935 MHz

Answer: C

Watch Video Solution

88. The ratio waves of frequency  to  belong to300MHz 3000MHz

https://dl.doubtnut.com/l/_VyNuFZzDaYwu
https://dl.doubtnut.com/l/_1GE9EcPw4Pbv
https://dl.doubtnut.com/l/_0a4NLn8teeO7


A. high frequency band

B. very high frequency band

C. ultra high frequency band

D. super high frequency band

Answer: B

Watch Video Solution

89. For base station to mobile communication, the required frequency

band is

A. 540-1600 KHz

B. 200-325MHz

C. 5.9-6.42GHz

D. 840-935 MHz

Answer: D

https://dl.doubtnut.com/l/_0a4NLn8teeO7
https://dl.doubtnut.com/l/_0v1lcwNc3Qrk


Watch Video Solution

90. Match the column I with column II. 

A. A-(q),B-(r), C-(s),D-(p)

B. A-(q),B-(s),C-(q),D-(r)

C. A-(r),B-(p),C-(q),D-(s)

D. A-(r),B-(s),C-(p) ,D-(q)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0v1lcwNc3Qrk
https://dl.doubtnut.com/l/_ayIYQnFy0YQC


91. In a communication system, operating at 1200 mm, only 2% of the

source frequency is available for T.V. transmission , having a bandwidth of

5 MHz. The number of T.V. channels that can be transmitted is

A. 2 million

B. 10 million

C. 0.1 million

D. 1 million

Answer: D

Watch Video Solution

92. A microwave telephone link operating at the central frequency of

10GHz has been established if 2% of this is available for microwave

communication channel. Then how many telephone channels can be

simultaneously granted if each telephone is allotted a bandwidth of 8

KHz?

https://dl.doubtnut.com/l/_blRmhP7lqqBU
https://dl.doubtnut.com/l/_4aLlab98rD79


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.5 × 103

3.5 × 102

2.5 × 104

4.5 × 106

93. A band width of 5 MHz is available for AM transmission. If the

maximum audio signal frequency used for modulating the carrier is not

to exceed 5 kHz, how many stations can be broad cast within this band

simultaneously without interfering with eachother?

A. 200

B. 300

C. 400

D. 500

https://dl.doubtnut.com/l/_4aLlab98rD79
https://dl.doubtnut.com/l/_Tt12akAjA8vP


Answer: D

Watch Video Solution

94. A communication between a fixed base station and several mobile

units, located on ships or aircraft utilising two way radio communication

in the VHF and UHF is of frequency band

A. 3 to 30 MHz

B. 30 to 300 MHz

C. 30 to 470MHz

D. 30 to 600 MHz

Answer: C

Watch Video Solution

95. Ground wave have wavelength

https://dl.doubtnut.com/l/_Tt12akAjA8vP
https://dl.doubtnut.com/l/_FMog3qy0chyX
https://dl.doubtnut.com/l/_oAPpG6rluyS0


A. less than that of sky waves

B. greater than that of sky waves

C. less than that of space waves

D. equal to that of space waves

Answer: B

Watch Video Solution

96. The mode of propagation used by short wave broadcast services is

A. space wave

B. sky wave

C. ground wave

D. both a and c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oAPpG6rluyS0
https://dl.doubtnut.com/l/_poM4aqWSxFrE


97. The skip zone in radio wave trasmission is that range where

A. there is no reception of either ground wave or sky wave

B. the reception of ground wave is maximum b ut that of sky wave is

minimum

C. the reception of ground wave is minimum, but that of sky wave is

maximum

D. the reception of both ground and sky wave is maximum.

Answer: A

Watch Video Solution

98. Which one of the following statements is wrong?

https://dl.doubtnut.com/l/_poM4aqWSxFrE
https://dl.doubtnut.com/l/_k2FuLlvGOik5
https://dl.doubtnut.com/l/_u6NDQMDHJyYH


A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Satellite communication is useful for the frequencies above 30 MHz.

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. Space wave propagation takes place through tropospheric space.

Answer: C

Watch Video Solution

99. The waves that are bent down by the ionosphere are

A. ground waves

B. surface waves

C. space waves

D. sky waves

Answer: D

https://dl.doubtnut.com/l/_u6NDQMDHJyYH
https://dl.doubtnut.com/l/_M3mJzLrs9D5D


Watch Video Solution

100. The maximum line-of -sight distance  between two antennas

having heights  and  above the earth is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dM

hT HR

√R(hT + hR)

√2R/(hT + hR)

√RhT + √2RhR

√2RhT + √2RhR

101. Frequencies in the  range normally propagate by means of:

A. ground waves

B. sky wave

UHF

https://dl.doubtnut.com/l/_M3mJzLrs9D5D
https://dl.doubtnut.com/l/_jDsRdq4Fh9eR
https://dl.doubtnut.com/l/_rhqjGuovegY4


C. surface waves

D. space waves

Answer: D

Watch Video Solution

102. If the whole earth is to be connected by line of sight communication

using space waves (no restriction of antenna size or tower height). What

is the minimum number of antennas required?

A. 2

B. 3

C. 4

D. 6

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rhqjGuovegY4
https://dl.doubtnut.com/l/_dwipS5PgafJ5


103. A ground receiver in line-of-sight communication cannot receive

direct waves due to

A. its low frequency

B. curvature of earth

C. its high intensity

D. smaller antenna

Answer: B

Watch Video Solution

104. Which of the following modes is used for line of sight

A. Ground wave

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. Space wave

https://dl.doubtnut.com/l/_dwipS5PgafJ5
https://dl.doubtnut.com/l/_mXqDeGHMCOB6
https://dl.doubtnut.com/l/_ce2Kmf7SQE1R


D. All of these

Answer: C

Watch Video Solution

105. Through which mode of propagation, the radio waves can be sent

from one place to another

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. space wave propagation

D. all of them

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ce2Kmf7SQE1R
https://dl.doubtnut.com/l/_Kkjrvk1n7x7T
https://dl.doubtnut.com/l/_h5MTVJUnXbTZ


106. Which of the following frequencies will be suitable for beyond the

horizon communication using sky waves?

A. 10KHz

B. 10MHz

C. 1GHz

D. 1000GHz

Answer: B

Watch Video Solution

107. A TV transmitting antenna is 81 m tall. How much service area it can

cover if the receiving antenna is at the ground level? (Radius of earth=

)

A. 

B. 

6.4 × 106m

3258km2

4180km2

https://dl.doubtnut.com/l/_h5MTVJUnXbTZ
https://dl.doubtnut.com/l/_F84ZbIUUO9hm


C. 

D. 

Answer: A

Watch Video Solution

2510km2

1525km2

108. A transmitting antenna at the top of the tower has a height 18 m and

the height of the receiving antenna is 32m. The maximum distance

between them for satisfactory communciation in line of sight mode is

(Radius of earth )

A. 15.15km

B. 21.25km

C. 30.45km

D. 35.42km.

Answer: D

W t h Vid S l ti

= 6.4 × 106m

https://dl.doubtnut.com/l/_F84ZbIUUO9hm
https://dl.doubtnut.com/l/_TQauMwpBBMtP


Watch Video Solution

109. A transmitting antenna of height 20 m and the receiving antenna of

height h are separated by a distance of 40km for satisfactory

communication in line of sight mode. Then the value of h is

A. 40m

B. 45m

C. 30m

D. 25m

Answer: B

Watch Video Solution

110. A TV transmission tower of antenna is at a height of 20 m. How much

service area can it cover if the receiving antenna is (i) at ground level (ii)

https://dl.doubtnut.com/l/_TQauMwpBBMtP
https://dl.doubtnut.com/l/_lNOwxKWZUA8k
https://dl.doubtnut.com/l/_rjvP49m89aub


at a height of 25 m ? Calculate the percentage increase in area covered in

case (ii) relative to case (i).

A. 2.48

B. 

C. 

D. 

Answer: B

Watch Video Solution

348.9 %

150 %

360.2 %

111. By what percentage will the transmission range of a T.V. tower be

affected when the height of the tower is increased by 21% ?

A. 0.1

B. 0.2

C. 0.3

https://dl.doubtnut.com/l/_rjvP49m89aub
https://dl.doubtnut.com/l/_GAPxwer1zHTM


D. 0.4

Answer: A

Watch Video Solution

112. A TV transmission tower has a height of 240 m. Signals broadcast

from this tower will be received by LOS communication at a distance of

(assume the radius of earth to be )

A. 100km

B. 110km

C. 55km

D. 120km

Answer: C

Watch Video Solution

6.4 × 106m

https://dl.doubtnut.com/l/_GAPxwer1zHTM
https://dl.doubtnut.com/l/_bvrjTzqF5up3
https://dl.doubtnut.com/l/_YZZouTMvyhO8


113. A fax message is to be sent from Delhi to Washington via a

geostationary satellite. The minimum distance between the dispatch and

its getting received is (Take height of the geostationary

satellite=36000km)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

72 × 103km

12 × 103km

27 × 103km

18 × 103km

114. A 50MHz sky wave takes 4.04 ms to reach a receiver via

retransmission from a satellite 600km above earht's surface. Assuming re-

transmission time by satellite negligible, find the distance between

source and reciever.

https://dl.doubtnut.com/l/_YZZouTMvyhO8
https://dl.doubtnut.com/l/_14u4K8DofMss


A. 606km

B. 170km

C. 340km

D. 280km

Answer: B

Watch Video Solution

115. What should be the length of the dipole antenna for a carrier wave of

frequency  Hz?

A. 1m

B. 0.5m

C. 2m

D. 2.5 m

Answer: B

3 × 108

https://dl.doubtnut.com/l/_14u4K8DofMss
https://dl.doubtnut.com/l/_iRucn2iW52C9


Watch Video Solution

116. A radio can tune to any station to 7.3 MHz to 12 MHz band. The

corresponding wavelength band is

A. 25m-40m

B. 10m-30m

C. 20-40m

D. 25m-35m

Answer: A

Watch Video Solution

117. On a particular day, the maximum frequency reflected from the

ionosphere is 10 MHz. On another day, it was found to increase to 11 MHz.

Calculate the ratio of the maximum electron densities of the ionosphere

on the two days. Point out a plausible explanation for this.

https://dl.doubtnut.com/l/_iRucn2iW52C9
https://dl.doubtnut.com/l/_HwUHshSEa7l4
https://dl.doubtnut.com/l/_h5WJFqQsgP8C


A. 1.21

B. 0.82

C. 

D. 

Answer: A

Watch Video Solution

0.50

0.25

118. In frequency modulation

A. the amplitude of modulated wave varies as frequency of carrier

wave

B. the frequency of modulated wave varies as amplitude of

modulating wave

C. the amplitude of modulated wave varies as amplitude of carrier

wave

https://dl.doubtnut.com/l/_h5WJFqQsgP8C
https://dl.doubtnut.com/l/_VwM4G6upOrHU


D. the frequency of modulated wave varies as frequency of modulating

wave

Answer: D

Watch Video Solution

119. Audio signal cannot be transmitted because

A. the signal has more noise.

B. the signal cannot be amplified for distance communication.

C. the transmitting antenna length is very small to design.

D. the transmitting antenna length is very large and impracticable.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VwM4G6upOrHU
https://dl.doubtnut.com/l/_rW63OP5HcnjJ


120. The modulation in which pulse. Duration varies in accordance with

the modulating signal is called

A. PAM

B. PPM

C. PWM

D. PCM

Answer: C

Watch Video Solution

121. Of the following which is preferred modulation scheme for digital

communication.

A. PCM

B. PAM

C. PPM

https://dl.doubtnut.com/l/_mEEPgWQK9trV
https://dl.doubtnut.com/l/_xG7uw5C3tmcA


D. PTM

Answer: A

Watch Video Solution

122. If both the length of an antenna and the wavelength of the signal to

be transmitted are doubled, the power radiated by the antenna

A. is doubled

B. is halved

C. remains constant

D. is quadrupled

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xG7uw5C3tmcA
https://dl.doubtnut.com/l/_IaDyinnzzX0n


123. A 300W carrier is modulated to a depth 75%. The total power in the

modulated wave is

A. 200W

B. 284W

C. 320W

D. 384W

Answer: D

Watch Video Solution

124. An audo signal of 15 KHz frequency cannot be trasmitted over long

distances without modulation because

A. the size of the required antenna would be least 5 km which is not

conveient.

B. the audio signal can not be trasmitted through sky waves.

https://dl.doubtnut.com/l/_rGnTNdcbINY3
https://dl.doubtnut.com/l/_tggOfDhhI47u


C. effective power transmitted would be very low. If the size of the

antenna is less than 5 km.

D. all of these

Answer: D

Watch Video Solution

125. A signal wave of frequency 12 kHz is modulated with a carrier wave of

frequency 2-51 MHz. The upper and lower side band frequencies are

respectively.

A. 2512 KHz and 2508KHz

B. 2522KHz and 2488KHz

C. 2502KHz and 2498KHz

D. 2522KHz and 2498KHz

Answer: D

https://dl.doubtnut.com/l/_tggOfDhhI47u
https://dl.doubtnut.com/l/_G8497jW7zv7j


Watch Video Solution

126. A message signal of frequency 10 KHz and peak voltage of 10V is u

sed to modulate a carrier of frequency 1 MHz and peak voltage of 20V. The

frequency of the side bands produced is

A. 1000 KHz, 990KHz

B. 1010KHz,990KHz

C. 990KHz,1000KHz

D. 1010KHz,1000KHz

Answer: B

Watch Video Solution

127. The maximum amplitude of an amplitude modulated wave is found to

be 15V while its minimum amplitude is found to b e 3V. The modulation

index is

https://dl.doubtnut.com/l/_G8497jW7zv7j
https://dl.doubtnut.com/l/_dRyHqsFxGSUr
https://dl.doubtnut.com/l/_sfaefPtK6IIG


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

2

3

1

2

1

3

128. A modulating signal is a square wave as shown in figure. 

 


The carrier wave is given by 

. 


The modulation index is

A. 0.2

c(t) = 2 sin(8πt)volt

https://dl.doubtnut.com/l/_sfaefPtK6IIG
https://dl.doubtnut.com/l/_yXwnrQdFRenz


B. 0.3

C. 0.4

D. 0.5

Answer: D

Watch Video Solution

129. A sinusoidal voltage amplitude modulates another sinusoidal voltage

of amplitude 2kV to result in two sidebands, each of amplitude 200V the

modulation index is

A. 0.2

B. 0.3

C. 0.4

D. 0.5

Answer: A

https://dl.doubtnut.com/l/_yXwnrQdFRenz
https://dl.doubtnut.com/l/_uhSqLQzoem8V


Watch Video Solution

130. In an amplitude modulation with modulation index 0.5 the ratio of

the carrier wave to that of side band in the modulated wave is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4: 1

1: 4

1: 3

2: 1

131. A carrier wave of peak voltage  is used to transmit a message

signal. The peak voltage of the modulating signal in order to have a

modulation index of  is

12V

75 %

https://dl.doubtnut.com/l/_uhSqLQzoem8V
https://dl.doubtnut.com/l/_Jwol2xKF83FR
https://dl.doubtnut.com/l/_iCuk9Pn5vVqC


A. 6V

B. 7V

C. 8V

D. 9V

Answer: D

Watch Video Solution

132. An amplitude modulated wave is as shown in figure. Calculate (i) the

percentage modulation, (ii) peak carrier voltage and , (iii) peak value of

information voltage. 

https://dl.doubtnut.com/l/_iCuk9Pn5vVqC
https://dl.doubtnut.com/l/_6kI2JABsexTy


A. 30V,20V

B. 10V,15V

C. 15V,30V

D. 20V,35V

Answer: A

Watch Video Solution

133. The LC product of a tuned amplifier circuit require to generate a

carrier wave of 1 MHz for amplitude modulation is

A. 

B. 

C. 

D. 

Answer: D

1.5 × 10− 14s

1.2 × 10− 12s

3.2 × 10− 12s

2.5 × 10− 14s

https://dl.doubtnut.com/l/_6kI2JABsexTy
https://dl.doubtnut.com/l/_3B7sLusDjmYz


Watch Video Solution

134. The frequency response curve (as shown in figure below) for the filter

circuit used for production of AM wave should be 

A. i followed by ii

B. ii followd by i

C. iii

D. all of these

Answer: D

https://dl.doubtnut.com/l/_3B7sLusDjmYz
https://dl.doubtnut.com/l/_X9C0yqxOeoZ7


Watch Video Solution

135. In which of the following remote sensing technique is not used?

A. Medical treatment

B. Pollution

C. Wetland mapping

D. Ground water survey

Answer: A

Watch Video Solution

136. Identify the incorrect statement from the following

A. AM detection is carried out using a rectifier and an envelope

detector.

https://dl.doubtnut.com/l/_X9C0yqxOeoZ7
https://dl.doubtnut.com/l/_WW90ZUfCpaX8
https://dl.doubtnut.com/l/_ZRC3FUYhpoys


B. Pulse position denotes the time of rise or fall of the pulse

amplitude.

C. Modulation index  is kept  1, to avoid distoriton.

D. Facsimile (FAX) scans the contents of the document to create

electronic signals.

Answer: C

Watch Video Solution

μ ≥

137. The essential condition for demodulation is

A. 

B. 

C. 

D. 

Answer: B

vc < < RC

< < RC
1

vc

> > RC
1

vc

vc > > RC

https://dl.doubtnut.com/l/_ZRC3FUYhpoys
https://dl.doubtnut.com/l/_CPHRvjUYB3Hu


Watch Video Solution

138. In a diode AM detector with the output circuit consists of R=

and  would be more suitable for detecting a carrier signal of

A. 1MHz

B. 0.1 MHz

C. 0.5MHz

D. 10MHz

Answer: D

Watch Video Solution

1MΩ

C = 1pF

139. Figure shows a communication system. What is the output power

when input is 1.01 mW? (Gain in ) 
dB = 10log10

Po

Pi

https://dl.doubtnut.com/l/_CPHRvjUYB3Hu
https://dl.doubtnut.com/l/_iWuRnkB9iCOW
https://dl.doubtnut.com/l/_ghT9dmAgatQ4


A. 90mW

B. 101mW

C. 1112mW

D. 120mW

Answer: B

Watch Video Solution

140. The intensity of a light pulse travelling along a communication

channel decreases exponetially with distance x according to the relation

 where  is the intensity at x=0 and  is the attenuation

constant. The percentage decrease in intensity after a distance of

 is

I = I0e
−ax I0 α

( )
In4

α

https://dl.doubtnut.com/l/_ghT9dmAgatQ4
https://dl.doubtnut.com/l/_a52UPhbOSDZD


Hots

A. 0.7

B. 0.75

C. 0.8

D. 0.85

Answer: B

Watch Video Solution

1. An audio signal is modulated by a carrier wave of 20 MHz such that the

bandwidth required for modulation is 3 kHz. Could this wave be

demodulated by a diode detector which has the values of R and C as (i)

.

A. 

R = 1kΩ, C = 0.01μF (ii)R = 10kΩ, C = 0.01μF (iii)R = 10kΩ, C = 1μμ

R = 1kΩ, C = 0.01μE

https://dl.doubtnut.com/l/_a52UPhbOSDZD
https://dl.doubtnut.com/l/_pMKfHnzgKHGZ


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

R = 10kΩ, C = 0.01μF

R = 10kΩ, C = 0.1pF

2. A multimode graded index fibre exhibits total pulse broadening of 0.1

us cover a distance of 1.5km. What is the maximum possible band width

on the link assuming no inter symbol interference?

A. 10MHz

B. 7.5M Hz

C. 5MHz

D. 2.5MHz

Answer: C

https://dl.doubtnut.com/l/_pMKfHnzgKHGZ
https://dl.doubtnut.com/l/_4bD7xuJJwUae


Watch Video Solution

3. Refer figure. Core has refractive index . The cladding

refractive index . In such a case. Will the light beam propagate? 


A. Yes

B. No

C. Data given insufficient to decide

D. the beam propagation is not affected with refractive indices of fibre

core and cladding.

Answer: A

Watch Video Solution

μ1 = 1.424

μ2 = 1.39

https://dl.doubtnut.com/l/_4bD7xuJJwUae
https://dl.doubtnut.com/l/_T7DpHjJ3BLwl
https://dl.doubtnut.com/l/_yqiVvupr68tj


4. Three waves A,B and C of frequencies 1500 KHz. 6MHz and 50 MHz

respectively are to be transmitted from one place to another. Which of

the following is the most appropriate mode of communciation?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yqiVvupr68tj


5. If the sum of the heights of transmitting and receiving antennas in line

of sight of communication is fixed at h, show that the range is maximum

when the two antennas have a height  each.

A. 

B. 2h

C. h

D. 4h

Answer: A

Watch Video Solution

h/2

h/2

6. Optical communication system having an operating wavelength 

metre can use only x % of its source frequency as its channel band width.

The system is to be used for transmitting T.V signals requiring a band

width of F hertz. How many channels can this system transmit

λ

https://dl.doubtnut.com/l/_v5SLN5bvVzSd
https://dl.doubtnut.com/l/_EqZ1BKxZ1UUL


simultaneously? Show graphically how this number of channels varies

with operating wavelength of the system.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

λF /Cx

2Cx /100λF

cx/50λF

cx/100λF

7. Estimate the fastest bit rate capable of being carried by light of

wavelength . How many phone calls could be carried at this bit rate

? Band width of optical fibre = 2 GHz.

A. 

B. 

C. 

1.3μm

2.9 × 107

1.5 × 106

2.3 × 105

https://dl.doubtnut.com/l/_EqZ1BKxZ1UUL
https://dl.doubtnut.com/l/_8npLOhYe3gC2


D. 

Answer: C

Watch Video Solution

1.7 × 104

8. The carrier freqeuncy of a station is 40 MHz. A resistor of 10k  and

capacitor of CpF are available in the detector circuit. The possible value of

C will be

A. 12

B. 8.2

C. 5.6

D. All of these

Answer: D

Watch Video Solution

Ω

https://dl.doubtnut.com/l/_8npLOhYe3gC2
https://dl.doubtnut.com/l/_SbADIWRe9WAt
https://dl.doubtnut.com/l/_jcJTqkCkXglE


9. A ground receiving station is receiving a signal at 6MHz transmitted

from a ground transmitter at a height of 500m located at a distance of

100km. If radius of earth is m, maxim um number density of

electron in ionosphere is . the signal is coming via:

A. ground wave

B. spac e wave

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. satellite transponder

Answer: C

Watch Video Solution

6.4 × 106

1012m− 3

10. The output current of an 80% mondulating amplitude modulated

generator is 1.8A. To what value will the current rise if the generator is

additionally modulated by another audiowave of modulation index 0.6?

A. 1.71A

https://dl.doubtnut.com/l/_jcJTqkCkXglE
https://dl.doubtnut.com/l/_3p6WBMTXg7pK


B. 1.81A

C. 1.91A

D. 2.01A

Answer: C

Watch Video Solution

11. An audio signal is modulated by a carrier wave of 20 MHz such that the

bandwidth required for modulation is 3KHz. Could this wave be

demodulated by a diode detector which has the values of R and C as

A. 

B. 

C. 

D. None of these

Answer: A

R = 1kΩ, C = 0.01μE

R = 10kΩ, C = 0.01μF

R = 10kΩ, C = 0.1pF

https://dl.doubtnut.com/l/_3p6WBMTXg7pK
https://dl.doubtnut.com/l/_dv5yN1ce320K


Watch Video Solution

12. A multimode graded index fibre exhibits total pulse broadening of 0.1

us cover a distance of 1.5km. What is the maximum possible band width

on the link assuming no inter symbol interference?

A. 10MHz

B. 7.5M Hz

C. 5MHz

D. 2.5MHz

Answer: C

Watch Video Solution

13. Refer figure. Core has refractive index . The cladding

refractive index . In such a case. Will the light beam propagate? 


μ1 = 1.424

μ2 = 1.39

https://dl.doubtnut.com/l/_dv5yN1ce320K
https://dl.doubtnut.com/l/_omaMZ4Sw7rkO
https://dl.doubtnut.com/l/_bDyNPbHC1qSv


A. Yes

B. No

C. Data given insufficient to decide

D. the beam propagation is not affected with refractive indices of fibre

core and cladding.

Answer: A

Watch Video Solution

14. Three waves A,B and C of frequencies 1500 KHz. 6MHz and 50 MHz

respectively are to be transmitted from one place to another. Which of

the following is the most appropriate mode of communciation?

https://dl.doubtnut.com/l/_bDyNPbHC1qSv
https://dl.doubtnut.com/l/_2oryLIxIXqKy


A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave

Answer: B

Watch Video Solution

15. The sum of the heights of transmitting and receiving attennas in line

of sight of communication is fixed at h, find the height of two antennas

when r ange is maximum.

A. h/2

https://dl.doubtnut.com/l/_2oryLIxIXqKy
https://dl.doubtnut.com/l/_h8Gu4r9SLt0W


B. 2h

C. h

D. 4h

Answer: A

Watch Video Solution

16. An optical communication system. Having an operating wavelength 

(in metres), can use only  of its source frequency as its channel

bandwidth. The system is to be used for trasnmitting TV signals requiring

a bandwidth of F hertz. How many channels can this system transmit

simultanously?

A. 

B. 

C. 

D. 

λ

x %

λF /Cx

2Cx /100λF

cx/50λF

cx/100λF

https://dl.doubtnut.com/l/_h8Gu4r9SLt0W
https://dl.doubtnut.com/l/_E5RQCv7xJszW


Answer: D

Watch Video Solution

17. Estimate the fastest bit rate capable of being carried by light of

wavelength . How many phone calls could be carried at this bit rate

? Band width of optical fibre = 2 GHz.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.3μm

2.9 × 107

1.5 × 106

2.3 × 105

1.7 × 104

https://dl.doubtnut.com/l/_E5RQCv7xJszW
https://dl.doubtnut.com/l/_gYp4qQ9CsJVm


18. The carrier freqeuncy of a station is 40 MHz. A resistor of 10k  and

capacitor of 12 pF are available in the detector circuit. The possible value

of C will be

A. 12

B. 8.2

C. 5.6

D. All of these

Answer: D

Watch Video Solution

Ω

19. A ground receiving station is receiving a signal at 6MHz transmitted

from a ground transmitter at a height of 500m located at a distance of

100km. If radius of earth is m, maxim um number density of

electron in ionosphere is . the signal is coming via:

6.4 × 106

1012m− 3

https://dl.doubtnut.com/l/_h1OXtSmWL6LM
https://dl.doubtnut.com/l/_T313JdyCc2p5


A. ground wave

B. spac e wave

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. satellite transponder

Answer: C

Watch Video Solution

20. The output current of an 80% mondulating amplitude modulated

generator is 1.8A. To what value will the current rise if the generator is

additionally modulated by another audiowave of modulation index 0.6?

A. 1.71A

B. 1.81A

C. 1.91A

D. 2.01A

https://dl.doubtnut.com/l/_T313JdyCc2p5
https://dl.doubtnut.com/l/_xynJj5ynxCM3


Ncert

Answer: C

Watch Video Solution

1. Three waves A,B and C of frequencies 1600 kHz, 5 MHz and 60 MHz,

respectively are to be transmitted from one place to another.Which of the

following is the appropriate mode of communication?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

https://dl.doubtnut.com/l/_xynJj5ynxCM3
https://dl.doubtnut.com/l/_oYOwdJ8PfRzm


D. B is transmitted via ground wave while A and C are transmitted via

space wave.

Answer: B

Watch Video Solution

2. A  long antenna is mounted on a  tall building. The complex

can become a transmission tower of waves with 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

100m 500m

λ

−400m

−25m

−150m

−2400m

https://dl.doubtnut.com/l/_oYOwdJ8PfRzm
https://dl.doubtnut.com/l/_GkL5SzRp84tC
https://dl.doubtnut.com/l/_PCkVNISHULXz


3. A 1kW signal is transmitted using a communication channel which

provides attrenuation at the rate of -2 d B per km. if the communication

channel has a total length of 5 km, the power of the signal received is

gain in 

A. 900W

B. 100W

C. 990W

D. 1010W

Answer: B

Watch Video Solution

dB = 10log( )
P0

Pi

4. A speech signal of  is used to modulate a carrier signal of

frequency , using amplitude modulation. The frequencies of the

side bands will be

A. 1.003 MHz and 0.997 MHz

3kHz

1MHz

https://dl.doubtnut.com/l/_PCkVNISHULXz
https://dl.doubtnut.com/l/_HIlaELGZaU9B


B. 3001 KHz and 2997 KHz

C. 1003 KHz and 1000 KHz

D. 1MHz and 0.997MHz

Answer: A

Watch Video Solution

5. A message signal of freuency  is superposed on a carrier wave of

frequency  to get an amplititude modulated wave (AM). The frequency

of the AM wave will be

A. 

B. 

C. 

D. 

Answer: B

ωm

ωc

ωm

ωc

ωc + ωm

2

ωc − ωm

2

https://dl.doubtnut.com/l/_HIlaELGZaU9B
https://dl.doubtnut.com/l/_Y7vDkzBAvauK


Watch Video Solution

6. 1-V characteristics of four devices are shown in figure. 

 


Identify devices that can be used for modulation

A. (i) and (iii)

B. Only (iii)

C. (ii) and some regions of (iv)

D. All the devices can be used

Answer: C

https://dl.doubtnut.com/l/_Y7vDkzBAvauK
https://dl.doubtnut.com/l/_eLVy7lW9XdMu


Watch Video Solution

7. A male voice after modulation-transmission sounds like that of a female

to the receiver. The problem is due to

A. poor selection of modulation index (selected )

B. poor bandwidth selection of amplitudes

C. poor selection of carrier frequency

D. loss of energy in transmission

Answer: B

Watch Video Solution

0 < m < 1

8. A basic communication system consists of (A) transmitter (B)

information source (C ) user of information (D)channel (E ) receiver `

Choose the correct sequence in which these are arranged in a basic

communicarion system.

https://dl.doubtnut.com/l/_eLVy7lW9XdMu
https://dl.doubtnut.com/l/_92zW6zg9uFYn
https://dl.doubtnut.com/l/_w29os1uynvWU


A. ABCDE

B. BADEC

C. BDACE

D. BEADC

Answer: B

Watch Video Solution

9. Identify the mathematical expression for amplitude modulated wave:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ac sin(ωc + k1vm(t)t + ϕ

Ac sin(ωct + ϕ + k2vm(t))

(Ac + k2vm(t))sin(ωct + ϕ)

Acvm(t)sin(ωct + ϕ)

https://dl.doubtnut.com/l/_w29os1uynvWU
https://dl.doubtnut.com/l/_LdOqCUbT0xD1


Corner

1. Assertion: Telephony is an example of point-to-point communication

mode. 

Reason: In point to-point communication modes, communication takes

place over a link between a single transmitter and a receiver.

Watch Video Solution

2. Assertion: The loss of strength of a signal while propagating through a

medium is known as attenuation. 

Reason: Transmitter helps to avoid attenuation.

Watch Video Solution

https://dl.doubtnut.com/l/_LdOqCUbT0xD1
https://dl.doubtnut.com/l/_FuyAP5fVpbfe
https://dl.doubtnut.com/l/_strlXI501CPP


3. Assertion: Amplification is necessary to compensate for the

attenualtion of the signal in communication system. 

Reason: Amplification is the process of increasing the amplitdue and

consequently the strength of a signal using an electronic circuit.

Watch Video Solution

4. Assertion: The process of retrieval of information from the carrier wave

at the reciever is termed as modulation. 

Reason: Repeater helps to modulate the signals.

Watch Video Solution

5. Assertion: Digital signals are continous variations of voltage of curren

t. 

Reason: Digital signals are essentially single valued functions of time.

A. A and R both are true and R is correct explaination of A

https://dl.doubtnut.com/l/_jl72vbiKmeAm
https://dl.doubtnut.com/l/_X1CeJHxTJHdG
https://dl.doubtnut.com/l/_gKLEPkKhgo5z


B. A is correct but R is wrong

C. A is wrong but R is true

D. Both are wrong

Answer: D

Watch Video Solution

6. Assertion: Microwave communication is preferred over optical

communication. 

Reason: Information carrying capacity is directly proportional to

bandwidth.

A. Both A and R are correct and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

D. Both A and R are wrong

https://dl.doubtnut.com/l/_gKLEPkKhgo5z
https://dl.doubtnut.com/l/_LmmBu2rOjJSK


Answer: A

Watch Video Solution

7. Assertion: The ionosphere layer acts as a reflector for all range of

frequencies. 

Reason: Ionosphere does not allow electromagnetic wav e to penetrate

and escape.

A. Both A and R are correct and R is correct explaination of A

B. A is correct but R is wrong

C. A is wrong but R is correct

D. Both A and R are wrong

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LmmBu2rOjJSK
https://dl.doubtnut.com/l/_mh4IclV0JWxl


8. Assertion: It is possible to transmit signals from one place on the earth

to practically other place on earth. 

Reason: A geostationary satellite orbiting the earth is u sed for

transmission.

A. Both A and R are true and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

D. Both are wrong

Answer: A

Watch Video Solution

9. Statement-1: Short wave band are used for transmission fo radiowaves

to a large distance. 

Statement-2: Short waves are reflected from ionosphere.

https://dl.doubtnut.com/l/_Po307MuL94Ij
https://dl.doubtnut.com/l/_7uPvqAiJrb59


A. Both statement 1 and 2 are correct and 2 is correct explaination of 1

B. 1 is correct but 2 is wrong

C. 1 is wrong but 2 is correct

D. Both are wrong

Answer: A

Watch Video Solution

10. Assertion : The information contained in our original low frequency

baseband signal is to be translated into high or radio frequencies before

transmission. 

Reason: For transmitting a signal, the antenna should have a size

comparable to the wav elength of the signal.

A. A and R both are true and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

https://dl.doubtnut.com/l/_7uPvqAiJrb59
https://dl.doubtnut.com/l/_lKdqrRpnGu6X


D. Both A and R are wrong

Answer: A

Watch Video Solution

11. Assertion: Long distance communication between two points on the

earth is achieved using sky waves. 

Reason: sky wave propagation takes place above. The frequency of 30

MHz.

A. Both A and R are true and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

D. Both are wrong

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lKdqrRpnGu6X
https://dl.doubtnut.com/l/_nE30nOWjJpVf


12. Assertion: The television signals are propagated through sky waves.

Reason: Television signals have freqeuncy in the range of 1000MHz to

2000MHz range.

A. a) A and R both are true and R is correct explaination of A

B. b) A is true but R is false

C. c) A is false but R is true

D. d) Both are false

Answer: D

Watch Video Solution

13. Assertion: Space waves are used for line -of -sight communication. 

Reason: Space wave travels in a straight line from transmitting antenna

to the receiving antenna.

A. A and R both are true and R is correct explaination of A

https://dl.doubtnut.com/l/_NpBpgNfOjPaS
https://dl.doubtnut.com/l/_H7mAdIwSFRkG


B. A is true but R is false

C. A is false but R is true

D. Both are false

Answer: A

Watch Video Solution

14. Assertion: When the height of a TV transmission tower is increased by

three times. The range covered is doubled. 

Reason: The range covered is proportional to the height of the TV

transmission tower.

A. a) A and R both are true and R is correct explaination of A

B. b) A is true but R is false

C. c) A is false but R is true

D. d) Both A and R are false

https://dl.doubtnut.com/l/_H7mAdIwSFRkG
https://dl.doubtnut.com/l/_Mpn8iLsv5cLI


Answer: C

Watch Video Solution

15. Assertion: AM detection is the process of recovering the modulating

signal from amplitude modulated waveform wich is carried out using a

rectifier and an evelope detector. 

Reason: Amplitude modulated waves can be produced by application of

the message signal and the carrier wave to a non-linear device followed

by band pass filter.

A. a) A and R both are true and R is correct explaination of A

B. b) A is true but R is false

C. c) A is false but R is true

D. d) Both A and R are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Mpn8iLsv5cLI
https://dl.doubtnut.com/l/_GKlHRbP4W3sF


Introduction

1. Who invented world wide web?

A. J.C.R. Licklider

B. Tim Berners-Lee

C. Alexander Graham Bell

D. Samuel F,B. Morse

Answer: B

Watch Video Solution

2. Who invented world wide web?

A. J.C.R. Licklider

B. Tim Berners-Lee

https://dl.doubtnut.com/l/_GKlHRbP4W3sF
https://dl.doubtnut.com/l/_PPXzVSFNUn0b
https://dl.doubtnut.com/l/_oCVX6iayegz3


Elements Of A Communication System

C. Alexander Graham Bell

D. Samuel F,B. Morse

Answer: B

Watch Video Solution

1. Essential elements of a communication system are

A. transmitter and receiver

B. reciever and communication channel

C. transmitter and communication channel

D. transmitter, comunication channel and receiver

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oCVX6iayegz3
https://dl.doubtnut.com/l/_pAxowleKOd54


2. Which of the following is an example of point to point communication

mode?

A. Radio

B. Television

C. Telephony

D. All of these

Answer: C

Watch Video Solution

3. Essential elements of a communication system are

A. transmitter and receiver

B. reciever and communication channel

C. transmitter and communication channel

https://dl.doubtnut.com/l/_pAxowleKOd54
https://dl.doubtnut.com/l/_kWG6YGqKlNyN
https://dl.doubtnut.com/l/_OeClFSqCCBA6


Basic Terminology In Electronic Communication

D. transmitter, comunication channel and receiver

Answer: D

Watch Video Solution

4. Which of the following is an example of point to point communication

mode?

A. Radio

B. Television

C. Telephony

D. All of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OeClFSqCCBA6
https://dl.doubtnut.com/l/_QzZawnAuuG8R


1. Which among following is not a basic terminology used in electronic

communication systems?

A. Transducer

B. Transmitter

C. Telegraph

D. Attenuation

Answer: C

Watch Video Solution

2. Which of the following is not transducer?

A. Loudspeaker

B. Amplifier

C. Microphone

D. All of these

https://dl.doubtnut.com/l/_vFRtdTWbinli
https://dl.doubtnut.com/l/_3PZdwcZi4SNh


Answer: B

Watch Video Solution

3. The loss of strength of a signal while propagating through a medium is

known as

A. reception

B. absorption

C. trasnmission

D. attenuation

Answer: D

Watch Video Solution

4. The process of increasing the strength of a signal using an electronic

circuit is called.

https://dl.doubtnut.com/l/_3PZdwcZi4SNh
https://dl.doubtnut.com/l/_FVo74FM56lhz
https://dl.doubtnut.com/l/_QNeeigoEeOtu


A. amplification

B. modulation

C. demodulation

D. transmission

Answer: A

Watch Video Solution

5. Modem is a device which performs

A. modulation

B. demodulation

C. rectification

D. modulation and demodulation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QNeeigoEeOtu
https://dl.doubtnut.com/l/_xxXHQRxax1sl


6. Modulation is the process of superposing

A. low frequency audio signal on high frequency radio waves.

B. low frequency radio signals on low frequency audio wave.

C. high frequency radio signal on low frequency audo signal.

D. high frequency audio signal on low frequency radio waves.

Answer: A

Watch Video Solution

7. The device which is a combination of a receiver and a transmitter is

A. Amplifier

B. Repeater

C. Transducer

https://dl.doubtnut.com/l/_xxXHQRxax1sl
https://dl.doubtnut.com/l/_FuHWsMOC8bOy
https://dl.doubtnut.com/l/_UDGbOfNTiUah


D. Modulator

Answer: B

Watch Video Solution

8. Which among following is not a basic terminology used in electronic

communication systems?

A. Transducer

B. Transmitter

C. Telegraph

D. Attenuation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UDGbOfNTiUah
https://dl.doubtnut.com/l/_Ax77Zazovde8


9. Which of the following is not transducer?

A. Loudspeaker

B. Amplifier

C. Microphone

D. All of these

Answer: B

Watch Video Solution

10. The loss of strength of a signal while propagating through a medium

is known as

A. reception

B. absorption

C. trasnmission

D. attenuation

https://dl.doubtnut.com/l/_t0k9AkxUGej6
https://dl.doubtnut.com/l/_K46E0wZocZBc


Answer: D

Watch Video Solution

11. The process of increasing the strength of a signal using an electronic

circuit is called.

A. amplification

B. modulation

C. demodulation

D. transmission

Answer: A

Watch Video Solution

12. Modem is a device which performs

https://dl.doubtnut.com/l/_K46E0wZocZBc
https://dl.doubtnut.com/l/_mwlR3hgDNVEM
https://dl.doubtnut.com/l/_HtOig5RB4f1M


A. modulation

B. demodulation

C. rectification

D. modulation and demodulation

Answer: D

Watch Video Solution

13. Modulation is the process of superposing

A. low frequency audio signal on high frequency radio waves.

B. low frequency radio signals on low frequency audio wave.

C. high frequency radio signal on low frequency audo signal.

D. high frequency audio signal on low frequency radio waves.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HtOig5RB4f1M
https://dl.doubtnut.com/l/_lZMPiqOkU2af


Bandwidth Of Signals

14. The device which is a combination of a receiver and a transmitter is

A. Amplifier

B. Repeater

C. Transducer

D. Modulator

Answer: B

Watch Video Solution

1. Large bandwidth for higher data rate is achieved by using

A. high frequency carrier wave

B. high frequency audio wave

https://dl.doubtnut.com/l/_lZMPiqOkU2af
https://dl.doubtnut.com/l/_hiwCZt85F9TT
https://dl.doubtnut.com/l/_gKm8K9K3H8sM


C. low frequency carrier wave

D. low frequency audio wave

Answer: A

Watch Video Solution

2. In a video signal for transmission of picture. What value of bandwidth

is used in communication system?

A. 2.4 MHz

B. 4.2MHz

C. 24MHz

D. 42MHz

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gKm8K9K3H8sM
https://dl.doubtnut.com/l/_rCVJQmw8d8Hk
https://dl.doubtnut.com/l/_7AORDgLEHGmK


3. Large bandwidth for higher data rate is achieved by using

A. high frequency carrier wave

B. high frequency audio wave

C. low frequency carrier wave

D. low frequency audio wave

Answer: A

Watch Video Solution

4. In a video signal for transmission of picture. What value of bandwidth

is used in communication system?

A. 2.4 MHz

B. 4.2MHz

C. 24MHz

D. 42MHz

https://dl.doubtnut.com/l/_7AORDgLEHGmK
https://dl.doubtnut.com/l/_XwlqXdbmPx7T


Bandwidth Of Transmission Medium

Answer: B

Watch Video Solution

1. Which one of the following statement is correct?

A. a. A single geostationary satellite can cover the whole part of the

earth for microwave communication.

B. b. Atleast three geotationary satellities in the same orbit around

earth can cover the whole part of the earth for microwave

communication.

C. c. The first Indian communication satellite is Telstar.

D. d.The satellite communication is not like the line of sight microwave

communication.

https://dl.doubtnut.com/l/_XwlqXdbmPx7T
https://dl.doubtnut.com/l/_jmXAuHLVRGU4


Answer: B

Watch Video Solution

2. Which of the following is an example of broadcast mode of

communication?

A. Radio

B. Television

C. Mobile

D. Both a and b

Answer: D

Watch Video Solution

3. Which of the following device is full duplex?

https://dl.doubtnut.com/l/_jmXAuHLVRGU4
https://dl.doubtnut.com/l/_2zAq3GpMcTTr
https://dl.doubtnut.com/l/_4hCKGTMRt8Gq


A. Mobile phone

B. Walky-talky

C. Loud speaker

D. Radio

Answer: A

Watch Video Solution

4. FM boradcast is preferred over AM broadcast because

A. it is less noisy.

B. reproduction is of much better quality.

C. it is more noisy.

D. both a and b

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4hCKGTMRt8Gq
https://dl.doubtnut.com/l/_NgZnQF8E8A11


5. The frequency band used in the downlink of s atellite communication is

A. 9.5 to 2.5 GHz

B. 8 96 to 0901 MHz

C. 3.7 to 4.2 GHz

D. 840 to 935 MHz

Answer: C

Watch Video Solution

6. The radio waves of frequency  to  belong to

A. high frequency band

B. very high frequency band

C. ultra high frequency band

300MHz 3000MHz

https://dl.doubtnut.com/l/_NgZnQF8E8A11
https://dl.doubtnut.com/l/_wX20IVy2OTnW
https://dl.doubtnut.com/l/_ITc2RGCLzSt4


D. super high frequency band

Answer: B

Watch Video Solution

7. For base station to mobile communication, the required frequency

band is

A. 540-1600 KHz

B. 200-325MHz

C. 5.9-6.42GHz

D. 840-935 MHz

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ITc2RGCLzSt4
https://dl.doubtnut.com/l/_l89PH91lXbAB


8. Match the column I with column II. 

A. A-(q),B-(r), C-(s),D-(p)

B. A-(q),B-(s),C-(q),D-(r)

C. A-(r),B-(p),C-(q),D-(s)

D. A-(r),B-(s),C-(p) ,D-(q)

Answer: C

Watch Video Solution

9. In optical communication system operating at 1200nm, only 2% of the

source frequency is available for TV t ransmission having a bandwidth of

https://dl.doubtnut.com/l/_0V6kg18dQuMH
https://dl.doubtnut.com/l/_CjyLXRUboXDI


5 MHz. the number of TV channels that can be transmitted is

A. 2 million

B. 10 million

C. 0.1 million

D. 1 million

Answer: D

Watch Video Solution

10. A microwave telephone link operating at the central frequency of

10GHz has been established if 2% of this is available for microwave

communication channel. Then how many telephone channels can be

simultaneously granted if each telephone is allotted a bandwidth of 8

KHz?

A. 

B. 

1.5 × 103

3.5 × 102

https://dl.doubtnut.com/l/_CjyLXRUboXDI
https://dl.doubtnut.com/l/_UBWQ6FxkukYT


C. 

D. 

Answer: C

Watch Video Solution

2.5 × 104

4.5 × 106

11. A band width of 5 MHz is available for AM transmission. If the

maximum audio signal frequency used for modulating the carrier is not

to exceed 5 kHz, how many stations can be broad cast within this band

simultaneously without interfering with eachother?

A. 200

B. 300

C. 400

D. 500

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_UBWQ6FxkukYT
https://dl.doubtnut.com/l/_FPX6SY4oE8kF


Watch Video Solution

12. A communication between a fixed base station and several mobile

units, located on ships or aircraft utilising two way radio communication

in the VHF and UHF is of frequency band

A. 3 to 30 MHz

B. 30 to 300 MHz

C. 30 to 470MHz

D. 30 to 600 MHz

Answer: C

Watch Video Solution

13. Which one of the following statement is correct?

https://dl.doubtnut.com/l/_FPX6SY4oE8kF
https://dl.doubtnut.com/l/_IGAHxBF8nCTi
https://dl.doubtnut.com/l/_LYSXnMJxXWAe


A. A single geostationary satellite can cover the whole part of the

earth for microwave communication.

B. Atleast three geotationary satellities in the same orbit around

earth can cover the whole part of the earth for microwave

communication.

C. The first Indian communication satellite is Telstar.

D. The satellite communication is not like the line of sight microwave

communication.

Answer: B

Watch Video Solution

14. Which of the following is an example of broadcast mode of

communication?

A. Radio

https://dl.doubtnut.com/l/_LYSXnMJxXWAe
https://dl.doubtnut.com/l/_UFT7ik7yVIDW


B. Television

C. Mobile

D. Both a and b

Answer: D

Watch Video Solution

15. Which of the following device is full duplex?

A. Mobile phone

B. Walky-talky

C. Loud speaker

D. Radio

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UFT7ik7yVIDW
https://dl.doubtnut.com/l/_FPFyIpMmYu3Y
https://dl.doubtnut.com/l/_VyNuFZzDaYwu


16. FM boradcast is preferred over AM broadcast because

A. it is less noisy.

B. reproduction is of much better quality.

C. it is more noisy.

D. both a and b

Answer: D

Watch Video Solution

17. The frequency band used in the downlink of s atellite communication

is

A. 9.5 to 2.5 GHz

B. 8 96 to 0901 MHz

C. 3.7 to 4.2 GHz

D. 840 to 935 MHz

https://dl.doubtnut.com/l/_VyNuFZzDaYwu
https://dl.doubtnut.com/l/_1GE9EcPw4Pbv


Answer: C

Watch Video Solution

18. The ratio waves of frequency  to  belong to

A. high frequency band

B. very high frequency band

C. ultra high frequency band

D. super high frequency band

Answer: B

Watch Video Solution

300MHz 3000MHz

19. For base station to mobile communication, the required frequency

band is

https://dl.doubtnut.com/l/_1GE9EcPw4Pbv
https://dl.doubtnut.com/l/_0a4NLn8teeO7
https://dl.doubtnut.com/l/_0v1lcwNc3Qrk


A. 540-1600 KHz

B. 200-325MHz

C. 5.9-6.42GHz

D. 840-935 MHz

Answer: D

Watch Video Solution

20. Match the column I with column II. 

A. A-(q),B-(r), C-(s),D-(p)

B. A-(q),B-(s),C-(q),D-(r)

https://dl.doubtnut.com/l/_0v1lcwNc3Qrk
https://dl.doubtnut.com/l/_ayIYQnFy0YQC


C. A-(r),B-(p),C-(q),D-(s)

D. A-(r),B-(s),C-(p) ,D-(q)

Answer: C

Watch Video Solution

21. In a communication system, operating at 1200 mm, only 2% of the

source frequency is available for T.V. transmission , having a bandwidth of

5 MHz. The number of T.V. channels that can be transmitted is

A. 2 million

B. 10 million

C. 0.1 million

D. 1 million

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ayIYQnFy0YQC
https://dl.doubtnut.com/l/_blRmhP7lqqBU


22. A microwave telephone link operating at the central frequency of

10GHz has been established if 2% of this is available for microwave

communication channel. Then how many telephone channels can be

simultaneously granted if each telephone is allotted a bandwidth of 8

KHz?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.5 × 103

3.5 × 102

2.5 × 104

4.5 × 106

23. A band width of 5 MHz is available for AM transmission. If the

maximum audio signal frequency used for modulating the carrier is not

https://dl.doubtnut.com/l/_blRmhP7lqqBU
https://dl.doubtnut.com/l/_4aLlab98rD79
https://dl.doubtnut.com/l/_Tt12akAjA8vP


to exceed 5 kHz, how many stations can be broad cast within this band

simultaneously without interfering with eachother?

A. 200

B. 300

C. 400

D. 500

Answer: D

Watch Video Solution

24. A communication between a fixed base station and several mobile

units, located on ships or aircraft utilising two way radio communication

in the VHF and UHF is of frequency band

A. 3 to 30 MHz

B. 30 to 300 MHz

C. 30 to 470MHz

https://dl.doubtnut.com/l/_Tt12akAjA8vP
https://dl.doubtnut.com/l/_FMog3qy0chyX


Propagation Of Electromagnetic Waves

D. 30 to 600 MHz

Answer: C

Watch Video Solution

1. Ground wave have wavelength

A. a) less than that of sky waves

B. b) greater than that of sky waves

C. c) less than that of space waves

D. d) equal to that of space waves

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FMog3qy0chyX
https://dl.doubtnut.com/l/_JCKY2xiLP1MM
https://dl.doubtnut.com/l/_G6zpV0yAT5RE


2. The mode of propagation used by short wave broadcast services is

A. space waveq

B. sky wave

C. ground wave

D. both and and c

Answer: B

Watch Video Solution

3. The skip zone in radio wave trasmission is that range where

A. there is no reception of either ground wave or sky wave

B. the reception of ground wave is maximum b ut that of sky wave is

minimum

C. the reception of ground wave is minimum, but that of sky wave is

maximum

https://dl.doubtnut.com/l/_G6zpV0yAT5RE
https://dl.doubtnut.com/l/_d7vWZXpitG1s


D. the reception of both ground and sky wave is maximum.

Answer: A

Watch Video Solution

4. Which one of the following statements is wrong?

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Satellite communication is useful for the frequencies above 30 MHz.

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. Space wave propagation takes place through tropospheric space.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_d7vWZXpitG1s
https://dl.doubtnut.com/l/_uCUjhmDSrJYB


5. The waves that are bent down by the ionosphere are

A. grund waves

B. surface waves

C. space waves

D. sky waves

Answer: D

Watch Video Solution

6. The maximum line-of -sight distance  between two antennas having

heights  and  above the earth is

A. 

B. 

C. 

D. 

dM

hT HR

√R(hT + hR)

√2R/(hT + hR)

√RhT + √2RhR

√2RhT + √2RhR

https://dl.doubtnut.com/l/_pZ4cQGaAQ4Nz
https://dl.doubtnut.com/l/_mo2gOeBRYRBz


Answer: D

Watch Video Solution

7. Frequencies in the UHF range normally propagate by means of

A. ground waves

B. sky wave

C. surface waves

D. space waves

Answer: D

Watch Video Solution

8. If the whole earth is to be connected by LOS communication using

space waves ( no restriction of antenna size or tower height), what is the

https://dl.doubtnut.com/l/_mo2gOeBRYRBz
https://dl.doubtnut.com/l/_3EYkViB97JN2
https://dl.doubtnut.com/l/_Du7ybopAsrh7


minimum no of antennaas required ? Calculate the tower height of these

antennas in terms of earth's radius?

A. 2

B. 3

C. 4

D. 6

Answer: D

Watch Video Solution

9. A ground receiver in line-of-sight communication cannot receive direct

waves due to

A. its low frequency

B. curvature of earth

C. its high intensity

https://dl.doubtnut.com/l/_Du7ybopAsrh7
https://dl.doubtnut.com/l/_ZT033flVNldE


D. smaller antenna

Answer: B

Watch Video Solution

10. Which of the following modes is used for line of sight

A. Ground wave

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. Space wave

D. All of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ZT033flVNldE
https://dl.doubtnut.com/l/_7vhAbH7gV26H


11. Through which mode of propagation, the radio waves can be sent from

one place to another

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. space wave propagation

D. all of them

Answer: D

Watch Video Solution

12. Which of the following frequencies will be suitable for beyond the

horizon communication using sky waves?

A. 10KHz

B. 10MHz

https://dl.doubtnut.com/l/_yz3ViCw2nEON
https://dl.doubtnut.com/l/_tITR1FDpxWnP


C. 1GHz

D. 1000GHz

Answer: B

Watch Video Solution

13. A TV transmitting antenna is 125 m tall. How much service area this

transmitting antenna cover, if the receiving antenna is at the ground

level? Radius of earth .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= 6400km

3258km2

4180km2

2510km2

1525km2

https://dl.doubtnut.com/l/_tITR1FDpxWnP
https://dl.doubtnut.com/l/_5WrRsx2SnDz3


14. A transmitting antenna at the top of the tower has a height 18 m and

the height of the receiving antenna is 32m. The maximum distance

between them for satisfactory communciation in line of sight mode is

(Radius of earth )

A. 15.15km

B. 21.25km

C. 30.45km

D. 35.42km.

Answer: D

Watch Video Solution

= 6.4 × 106m

15. A transmitting antenna of height 20 m and the receiving antenna of

height h are separated by a distance of 40km for satisfactory

communication in line of sight mode. Then the value of h is

https://dl.doubtnut.com/l/_5WrRsx2SnDz3
https://dl.doubtnut.com/l/_PJaBWvKYOnel
https://dl.doubtnut.com/l/_WFCDVSbGk9ue


A. 40m

B. 45m

C. 30m

D. 25m

Answer: B

Watch Video Solution

16. A TV transmission tower antenna is at a height of 20m. The

percentage increase in area covered in case if the receiving antenna is at

ground level to that at a height of 25 m is (Radius of earth

)

A. 2.48

B. 

C. 

D. 

= 6.4 × 106m

348.9 %

150 %

360.2 %

https://dl.doubtnut.com/l/_WFCDVSbGk9ue
https://dl.doubtnut.com/l/_2ZVALoFwuyDt


Answer: B

Watch Video Solution

17. By what percentage will the transmission range of a T.V. tower be

affected when the height of the tower is increased by 21% ?

A. 0.1

B. 0.2

C. 0.3

D. 0.4

Answer: A

Watch Video Solution

18. A TV transmission tower has a height of 240 m. Signals broadcast from

this tower will be received by LOS communication at a distance of

https://dl.doubtnut.com/l/_2ZVALoFwuyDt
https://dl.doubtnut.com/l/_Oz6GNowjs7OY
https://dl.doubtnut.com/l/_UFUDeSqO85ZM


(assume the radius of earth to be )

A. 100km

B. 110km

C. 55km

D. 120km

Answer: C

Watch Video Solution

6.4 × 106m

19. A fax message is to be sent from Delhi to washington via a

geostationary satellite. Calculate the minimum time delay between 

the dispatch and its getting received. Take 

height of the geostationary satellite = 36000 

km.

A. 

B. 

72 × 103km

12 × 103km

https://dl.doubtnut.com/l/_UFUDeSqO85ZM
https://dl.doubtnut.com/l/_slya6ni3Xr4M


C. 

D. 

Answer: A

Watch Video Solution

27 × 103km

18 × 103km

20. A 50 MHz sky wave sky wave takes 4.04 ms to reach a receiver via re-

transmission from a satellite 600 km above earth's surface. Assuming re-

transmission time by satellite negligible, find the distance between

source and receiver. If communication between the two was to be done

by Line of sight (LOS) method,what should be the size of transmitting

antenna ?

A. 606km

B. 170km

C. 340km

D. 280km

https://dl.doubtnut.com/l/_slya6ni3Xr4M
https://dl.doubtnut.com/l/_pqSslutcOiys


Answer: B

Watch Video Solution

21. What should be the length of the dipole antenna for a carrier wave of

frequency  Hz?

A. 1m

B. 0.5m

C. 2m

D. 2.5 m

Answer: B

Watch Video Solution

3 × 108

22. A radio can tune to any station in 7.5 MHz to 12MHz band. The

corresponding wavelength band is

https://dl.doubtnut.com/l/_pqSslutcOiys
https://dl.doubtnut.com/l/_VvwB6zdl1E7M
https://dl.doubtnut.com/l/_G6Lwnw2HPjOx


A. 25m-40m

B. 10m-30m

C. 20-40m

D. 25m-35m

Answer: A

Watch Video Solution

23. On a particular day, the maximum frequency reflected from the

ionosphere is 10 MHz. On another day, it was found to increase to 11 MHz.

Calculate the ratio of the maximum electron densities of the ionosphere

on the two days. Point out a plausible explanation for this.

A. 1.21

B. 0.82

C. 

D. 

0.50

0.25

https://dl.doubtnut.com/l/_G6Lwnw2HPjOx
https://dl.doubtnut.com/l/_ysyfe2Ho6Jde


Answer: A

Watch Video Solution

24. Ground wave have wavelength

A. less than that of sky waves

B. greater than that of sky waves

C. less than that of space waves

D. equal to that of space waves

Answer: B

Watch Video Solution

25. The mode of propagation used by short wave broadcast services is

A. space wave

https://dl.doubtnut.com/l/_ysyfe2Ho6Jde
https://dl.doubtnut.com/l/_oAPpG6rluyS0
https://dl.doubtnut.com/l/_poM4aqWSxFrE


B. sky wave

C. ground wave

D. both a and c

Answer: B

Watch Video Solution

26. The skip zone in radio wave trasmission is that range where

A. there is no reception of either ground wave or sky wave

B. the reception of ground wave is maximum b ut that of sky wave is

minimum

C. the reception of ground wave is minimum, but that of sky wave is

maximum

D. the reception of both ground and sky wave is maximum.

Answer: A

https://dl.doubtnut.com/l/_poM4aqWSxFrE
https://dl.doubtnut.com/l/_k2FuLlvGOik5


Watch Video Solution

27. Which one of the following statements is wrong?

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Satellite communication is useful for the frequencies above 30 MHz.

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. Space wave propagation takes place through tropospheric space.

Answer: C

Watch Video Solution

28. The waves that are bent down by the ionosphere are

A. ground waves

B. surface waves

https://dl.doubtnut.com/l/_k2FuLlvGOik5
https://dl.doubtnut.com/l/_u6NDQMDHJyYH
https://dl.doubtnut.com/l/_M3mJzLrs9D5D


C. space waves

D. sky waves

Answer: D

Watch Video Solution

29. The maximum line-of -sight distance  between two antennas

having heights  and  above the earth is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dM

hT HR

√R(hT + hR)

√2R/(hT + hR)

√RhT + √2RhR

√2RhT + √2RhR

https://dl.doubtnut.com/l/_M3mJzLrs9D5D
https://dl.doubtnut.com/l/_jDsRdq4Fh9eR
https://dl.doubtnut.com/l/_rhqjGuovegY4


30. Frequencies in the  range normally propagate by means of:

A. ground waves

B. sky wave

C. surface waves

D. space waves

Answer: D

Watch Video Solution

UHF

31. If the whole earth is to be connected by line of sight communication

using space waves (no restriction of antenna size or tower height). What

is the minimum number of antennas required?

A. 2

B. 3

C. 4

https://dl.doubtnut.com/l/_rhqjGuovegY4
https://dl.doubtnut.com/l/_dwipS5PgafJ5


D. 6

Answer: D

Watch Video Solution

32. A ground receiver in line-of-sight communication cannot receive direct

waves due to

A. its low frequency

B. curvature of earth

C. its high intensity

D. smaller antenna

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dwipS5PgafJ5
https://dl.doubtnut.com/l/_mXqDeGHMCOB6


33. Which of the following modes is used for line of sight

A. Ground wave

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. Space wave

D. All of these

Answer: C

Watch Video Solution

34. Through which mode of propagation, the radio waves can be sent

from one place to another

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. space wave propagation

https://dl.doubtnut.com/l/_ce2Kmf7SQE1R
https://dl.doubtnut.com/l/_Kkjrvk1n7x7T


D. all of them

Answer: D

Watch Video Solution

35. Which of the following frequencies will be suitable for beyond the

horizon communication using sky waves?

A. 10KHz

B. 10MHz

C. 1GHz

D. 1000GHz

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Kkjrvk1n7x7T
https://dl.doubtnut.com/l/_h5MTVJUnXbTZ


36. A TV transmitting antenna is 81 m tall. How much service area it can

cover if the receiving antenna is at the ground level? (Radius of earth=

)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6.4 × 106m

3258km2

4180km2

2510km2

1525km2

37. A transmitting antenna at the top of the tower has a height 18 m and

the height of the receiving antenna is 32m. The maximum distance

between them for satisfactory communciation in line of sight mode is

(Radius of earth )= 6.4 × 106m

https://dl.doubtnut.com/l/_F84ZbIUUO9hm
https://dl.doubtnut.com/l/_TQauMwpBBMtP


A. 15.15km

B. 21.25km

C. 30.45km

D. 35.42km.

Answer: D

Watch Video Solution

38. A transmitting antenna of height 20 m and the receiving antenna of

height h are separated by a distance of 40km for satisfactory

communication in line of sight mode. Then the value of h is

A. 40m

B. 45m

C. 30m

D. 25m

https://dl.doubtnut.com/l/_TQauMwpBBMtP
https://dl.doubtnut.com/l/_lNOwxKWZUA8k


Answer: B

Watch Video Solution

39. A TV transmission tower of antenna is at a height of 20 m. How much

service area can it cover if the receiving antenna is (i) at ground level (ii)

at a height of 25 m ? Calculate the percentage increase in area covered in

case (ii) relative to case (i).

A. 2.48

B. 

C. 

D. 

Answer: B

Watch Video Solution

348.9 %

150 %

360.2 %

https://dl.doubtnut.com/l/_lNOwxKWZUA8k
https://dl.doubtnut.com/l/_rjvP49m89aub


40. By what percentage will the transmission range of a T.V. tower be

affected when the height of the tower is increased by 21% ?

A. 0.1

B. 0.2

C. 0.3

D. 0.4

Answer: A

Watch Video Solution

41. A TV transmission tower has a height of 240 m. Signals broadcast from

this tower will be received by LOS communication at a distance of

(assume the radius of earth to be )

A. 100km

B. 110km

6.4 × 106m

https://dl.doubtnut.com/l/_GAPxwer1zHTM
https://dl.doubtnut.com/l/_bvrjTzqF5up3


C. 55km

D. 120km

Answer: C

Watch Video Solution

42. A fax message is to be sent from Delhi to Washington via a

geostationary satellite. The minimum distance between the dispatch and

its getting received is (Take height of the geostationary

satellite=36000km)

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

72 × 103km

12 × 103km

27 × 103km

18 × 103km

https://dl.doubtnut.com/l/_bvrjTzqF5up3
https://dl.doubtnut.com/l/_YZZouTMvyhO8


Watch Video Solution

43. A 50MHz sky wave takes 4.04 ms to reach a receiver via retransmission

from a satellite 600km above earht's surface. Assuming re-transmission

time by satellite negligible, find the distance between source and reciever.

A. 606km

B. 170km

C. 340km

D. 280km

Answer: B

Watch Video Solution

44. What should be the length of the dipole antenna for a carrier wave of

frequency  Hz?

A. 1m

3 × 108

https://dl.doubtnut.com/l/_YZZouTMvyhO8
https://dl.doubtnut.com/l/_14u4K8DofMss
https://dl.doubtnut.com/l/_iRucn2iW52C9


B. 0.5m

C. 2m

D. 2.5 m

Answer: B

Watch Video Solution

45. A radio can tune to any station to 7.3 MHz to 12 MHz band. The

corresponding wavelength band is

A. 25m-40m

B. 10m-30m

C. 20-40m

D. 25m-35m

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iRucn2iW52C9
https://dl.doubtnut.com/l/_HwUHshSEa7l4


Modulation And Its Necessity

46. On a particular day, the maximum frequency reflected from the

ionosphere is 10 MHz. On another day, it was found to increase to 11 MHz.

Calculate the ratio of the maximum electron densities of the ionosphere

on the two days. Point out a plausible explanation for this.

A. 1.21

B. 0.82

C. 

D. 

Answer: A

Watch Video Solution

0.50

0.25

1. In frequency modulation

https://dl.doubtnut.com/l/_HwUHshSEa7l4
https://dl.doubtnut.com/l/_h5WJFqQsgP8C
https://dl.doubtnut.com/l/_3kjniTcXNzZj


A. the amplitude of modulated wave varies as frequency of carrier

wave

B. the frequency of modulated wave varies as amplitude of

modulating wave

C. the amplitude of modulated wave varies as amplitude of carrier

wave

D. the frequency of modulated wave varies as frequency of modulating

wave

Answer: D

Watch Video Solution

2. Audio signal cannot be transmitted because

A. the signal has more noise.

B. the signal cannot be amplified for distance communication.

https://dl.doubtnut.com/l/_3kjniTcXNzZj
https://dl.doubtnut.com/l/_7O8Zm6NmytcL


C. the transmitting antenna length is very small to design.

D. the transmitting antenna length is very large and impracticable.

Answer: D

Watch Video Solution

3. The modulation in which pulse. Duration varies in accordance with the

modulating signal is called

A. PAM

B. PPM

C. PWM

D. PCM

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7O8Zm6NmytcL
https://dl.doubtnut.com/l/_eOEXmr0gYoM5
https://dl.doubtnut.com/l/_BheK69QT3aDr


4. Which of the following is digital modulation technique?

A. PCM

B. PAM

C. PPM

D. PTM

Answer: A

Watch Video Solution

5. If both the length of an antenna and the wavelength of the signal to be

transmitted are doubled, the power radiated by the antenna

A. is doubled

B. is halved

C. remains constant

D. is quadrupled

https://dl.doubtnut.com/l/_BheK69QT3aDr
https://dl.doubtnut.com/l/_OsfGx4y7BEFR


Answer: C

Watch Video Solution

6. A 300W carrier is modulated to a depth 75%. The total power in the

modulated wave is

A. 200W

B. 284W

C. 320W

D. 384W

Answer: D

Watch Video Solution

7. An audio signal of 15 kHz frequency cannot be transmitted over long

distance without modulation because.

https://dl.doubtnut.com/l/_OsfGx4y7BEFR
https://dl.doubtnut.com/l/_dIAOHHgs4DcB
https://dl.doubtnut.com/l/_SpJPciZQZ4ej


A. the size of the required antenna would be least 5 km which is not

conveient.

B. the audio signal can not be trasmitted through sky waves.

C. effective power transmitted would be very low. If the size of the

antenna is less than 5 km.

D. all of these

Answer: D

Watch Video Solution

8. In frequency modulation

A. the amplitude of modulated wave varies as frequency of carrier

wave

B. the frequency of modulated wave varies as amplitude of

modulating wave

https://dl.doubtnut.com/l/_SpJPciZQZ4ej
https://dl.doubtnut.com/l/_VwM4G6upOrHU


C. the amplitude of modulated wave varies as amplitude of carrier

wave

D. the frequency of modulated wave varies as frequency of modulating

wave

Answer: D

Watch Video Solution

9. Audio signal cannot be transmitted because

A. the signal has more noise.

B. the signal cannot be amplified for distance communication.

C. the transmitting antenna length is very small to design.

D. the transmitting antenna length is very large and impracticable.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VwM4G6upOrHU
https://dl.doubtnut.com/l/_rW63OP5HcnjJ


10. The modulation in which pulse. Duration varies in accordance with the

modulating signal is called

A. PAM

B. PPM

C. PWM

D. PCM

Answer: C

Watch Video Solution

11. Of the following which is preferred modulation scheme for digital

communication.

A. PCM

B. PAM

https://dl.doubtnut.com/l/_rW63OP5HcnjJ
https://dl.doubtnut.com/l/_mEEPgWQK9trV
https://dl.doubtnut.com/l/_xG7uw5C3tmcA


C. PPM

D. PTM

Answer: A

Watch Video Solution

12. If both the length of an antenna and the wavelength of the signal to

be transmitted are doubled, the power radiated by the antenna

A. is doubled

B. is halved

C. remains constant

D. is quadrupled

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xG7uw5C3tmcA
https://dl.doubtnut.com/l/_IaDyinnzzX0n
https://dl.doubtnut.com/l/_rGnTNdcbINY3


13. A 300W carrier is modulated to a depth 75%. The total power in the

modulated wave is

A. 200W

B. 284W

C. 320W

D. 384W

Answer: D

Watch Video Solution

14. An audo signal of 15 KHz frequency cannot be trasmitted over long

distances without modulation because

A. the size of the required antenna would be least 5 km which is not

conveient.

B. the audio signal can not be trasmitted through sky waves.

https://dl.doubtnut.com/l/_rGnTNdcbINY3
https://dl.doubtnut.com/l/_tggOfDhhI47u


Amplitude Modulation

C. effective power transmitted would be very low. If the size of the

antenna is less than 5 km.

D. all of these

Answer: D

Watch Video Solution

1. A signal wave of frequency 12 kHz is modulated with a carrier wave of

frequency 2-51 MHz. The upper and lower side band frequencies are

respectively.

A. 2512 KHz and 2508KHz

B. 2522KHz and 2488KHz

C. 2502KHz and 2498KHz

D. 2522KHz and 2498KHz

https://dl.doubtnut.com/l/_tggOfDhhI47u
https://dl.doubtnut.com/l/_4p7euc7aOyag


Answer: D

Watch Video Solution

2. A message signal of frequency 10 kHz and peak voltage 10 volt is used

to modulate a carrier of frequency 1 MHz and peak voltage 20 volt.

Determine (a) modulation index (b) the side bands produced.

A. 1000 KHz, 990KHz

B. 1010KHz,990KHz

C. 990KHz,1000KHz

D. 1010KHz,1000KHz

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4p7euc7aOyag
https://dl.doubtnut.com/l/_ajj5gdNDpl4x


3. The maximum amplitude of an AM wave is found to be 15 V while its

minimum amplitude is found to be 3 V.What is the modulation index?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

2

3

1

2

1

3

4. A modulating signal is a square wave as shown in figure. 

 


The carrier wave is given by 

https://dl.doubtnut.com/l/_PcnNkNiSo9XD
https://dl.doubtnut.com/l/_X3Qx1iQ7YBcg


. 


The modulation index is

A. 0.2

B. 0.3

C. 0.4

D. 0.5

Answer: D

Watch Video Solution

c(t) = 2 sin(8πt)volt

5. A sinusoidal voltage amplitude modulates another sinusoidal voltage

of amplitude 2 kV resulting in two side bands of amplitude 200 V. Find

the modulation index.

A. 0.2

B. 0.3

C. 0.4

https://dl.doubtnut.com/l/_X3Qx1iQ7YBcg
https://dl.doubtnut.com/l/_f29x5zw3Mc19


D. 0.5

Answer: A

Watch Video Solution

6. In an amplitude modulation with modulation index 0.5 the ratio of the

carrier wave to that of side band in the modulated wave is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

4: 1

1: 4

1: 3

2: 1

https://dl.doubtnut.com/l/_f29x5zw3Mc19
https://dl.doubtnut.com/l/_Ti4Mkn2EJZCH


7. A carrier wave of peak voltage  is used to transmit a message

signal. The peak voltage of the modulating signal in order to have a

modulation index of  is

A. 6V

B. 7V

C. 8V

D. 9V

Answer: D

View Text Solution

12V

75 %

8. An amplitude modulated wave is as shown in figure. Calculate (i) the

percentage modulation, (ii) peak carrier voltage and , (iii) peak value of

https://dl.doubtnut.com/l/_xqPZ36G0gLfE
https://dl.doubtnut.com/l/_KGCejFl1U7hj


information voltage. 

A. 30V,20V

B. 10V,15V

C. 15V,30V

D. 20V,35V

Answer: A

View Text Solution

9. Compute  product of a tuned amplifer circuit required to generate a

carrier  of  for amplitude modulation

LC

wave 1MHz

https://dl.doubtnut.com/l/_KGCejFl1U7hj
https://dl.doubtnut.com/l/_eJpJ2V92sIoE


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.5 × 10− 14s

1.2 × 10− 12s

3.2 × 10− 12s

2.5 × 10− 14s

10. The frequency response curve (figure) for the filter circuit used for

production of AM wave should be 

A. i followed by ii

B. ii followd by i

C. iii

https://dl.doubtnut.com/l/_eJpJ2V92sIoE
https://dl.doubtnut.com/l/_aCoOzCpIIGSo


D. all of these

Answer: D

Watch Video Solution

11. A signal wave of frequency 12 kHz is modulated with a carrier wave of

frequency 2-51 MHz. The upper and lower side band frequencies are

respectively.

A. 2512 KHz and 2508KHz

B. 2522KHz and 2488KHz

C. 2502KHz and 2498KHz

D. 2522KHz and 2498KHz

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aCoOzCpIIGSo
https://dl.doubtnut.com/l/_G8497jW7zv7j
https://dl.doubtnut.com/l/_dRyHqsFxGSUr


12. A message signal of frequency 10 KHz and peak voltage of 10V is u sed

to modulate a carrier of frequency 1 MHz and peak voltage of 20V. The

frequency of the side bands produced is

A. 1000 KHz, 990KHz

B. 1010KHz,990KHz

C. 990KHz,1000KHz

D. 1010KHz,1000KHz

Answer: B

Watch Video Solution

13. The maximum amplitude of an amplitude modulated wave is found to

be 15V while its minimum amplitude is found to b e 3V. The modulation

index is

A. 

B. 

3

2

2

3

https://dl.doubtnut.com/l/_dRyHqsFxGSUr
https://dl.doubtnut.com/l/_sfaefPtK6IIG


C. 

D. 

Answer: B

Watch Video Solution

1

2

1

3

14. A modulating signal is a square wave as shown in figure. 

 


The carrier wave is given by 

. 


The modulation index is

A. 0.2

B. 0.3

C. 0.4

c(t) = 2 sin(8πt)volt

https://dl.doubtnut.com/l/_sfaefPtK6IIG
https://dl.doubtnut.com/l/_yXwnrQdFRenz


D. 0.5

Answer: D

Watch Video Solution

15. A sinusoidal voltage amplitude modulates another sinusoidal voltage

of amplitude 2kV to result in two sidebands, each of amplitude 200V the

modulation index is

A. 0.2

B. 0.3

C. 0.4

D. 0.5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yXwnrQdFRenz
https://dl.doubtnut.com/l/_uhSqLQzoem8V
https://dl.doubtnut.com/l/_Jwol2xKF83FR


16. In an amplitude modulation with modulation index 0.5 the ratio of the

carrier wave to that of side band in the modulated wave is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4: 1

1: 4

1: 3

2: 1

17. A carrier wave of peak voltage  is used to transmit a message

signal. The peak voltage of the modulating signal in order to have a

modulation index of  is

A. 6V

B. 7V

12V

75 %

https://dl.doubtnut.com/l/_Jwol2xKF83FR
https://dl.doubtnut.com/l/_iCuk9Pn5vVqC


C. 8V

D. 9V

Answer: D

Watch Video Solution

18. An amplitude modulated wave is as shown in figure. Calculate (i) the

percentage modulation, (ii) peak carrier voltage and , (iii) peak value of

information voltage. 

A. 30V,20V

B. 10V,15V

https://dl.doubtnut.com/l/_iCuk9Pn5vVqC
https://dl.doubtnut.com/l/_6kI2JABsexTy


C. 15V,30V

D. 20V,35V

Answer: A

Watch Video Solution

19. The LC product of a tuned amplifier circuit require to generate a

carrier wave of 1 MHz for amplitude modulation is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.5 × 10− 14s

1.2 × 10− 12s

3.2 × 10− 12s

2.5 × 10− 14s

https://dl.doubtnut.com/l/_6kI2JABsexTy
https://dl.doubtnut.com/l/_3B7sLusDjmYz
https://dl.doubtnut.com/l/_X9C0yqxOeoZ7


20. The frequency response curve (as shown in figure below) for the filter

circuit used for production of AM wave should be 

A. i followed by ii

B. ii followd by i

C. iii

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_X9C0yqxOeoZ7


Detection Of Amplitude Modulation Wave

1. In which of the following remote sensing technique is not used?

A. Medical treatment

B. Pollution

C. Wetland mapping

D. Ground water survey

Answer: A

Watch Video Solution

2. Identify the incorrect statement from the following

A. AM detection is carried out using a rectifier and an envelope

detector.

https://dl.doubtnut.com/l/_Hf4CsxplLTY9
https://dl.doubtnut.com/l/_dFjX4GiZ4iBn


B. Pulse position denotes the time of rise or fall of the pulse

amplitude.

C. Modulation index  is kept  1, to avoid distoriton.

D. Facsimile (FAX) scans the contents of the document to create

electronic signals.

Answer: C

Watch Video Solution

μ ≥

3. The essential condition for demodulation is

A. 

B. 

C. 

D. 

Answer: B

vc < < RC

< < RC
1

vc

> > RC
1

vc

vc > > RC

https://dl.doubtnut.com/l/_dFjX4GiZ4iBn
https://dl.doubtnut.com/l/_nMCgoF72g3Q8


Watch Video Solution

4. In a diode AM detector with the output circuit consists of R=  and 

 would be more suitable for detecting a carrier signal of

A. 1MHz

B. 0.1 MHz

C. 0.5MHz

D. 10MHz

Answer: D

Watch Video Solution

1MΩ

C = 1pF

5. Figure (EP) shows a communication system. What is the output power

when input signals is of 1.01 mW? [ gain in . dB = 10 log10(P0 /Pt)]

https://dl.doubtnut.com/l/_nMCgoF72g3Q8
https://dl.doubtnut.com/l/_ywPLgmQLg3bV
https://dl.doubtnut.com/l/_uO0j7QI0vyOP


A. 90mW

B. 101mW

C. 1112mW

D. 120mW

Answer: B

Watch Video Solution

6. (i) The intensity of a light pulse travelling along a communication

channel decreases exponentially with distance x according to the relation

, where  is the intensity at  and  is the attenuation

constant. 

I = I0e
−αx I0 x = 0 α

https://dl.doubtnut.com/l/_uO0j7QI0vyOP
https://dl.doubtnut.com/l/_dfFDvhhjEy7m


Show that the intensity reduces by 75 percent after a distance of  


(ii) Attenuation of a signal can be expressed in decibel (dB) according to

the relation 

dB  What is the attenuation in  for an optical

fibre in which the intensity falls by 50 percent over a distance of 50 km?

A. 0.7

B. 0.75

C. 0.8

D. 0.85

Answer: B

Watch Video Solution

ln 4

α

= 10 log10(I /I0). dB/km

7. In which of the following remote sensing technique is not used?

A. Medical treatment

B. Pollution

https://dl.doubtnut.com/l/_dfFDvhhjEy7m
https://dl.doubtnut.com/l/_WW90ZUfCpaX8


C. Wetland mapping

D. Ground water survey

Answer: A

Watch Video Solution

8. Identify the incorrect statement from the following

A. AM detection is carried out using a rectifier and an envelope

detector.

B. Pulse position denotes the time of rise or fall of the pulse

amplitude.

C. Modulation index  is kept  1, to avoid distoriton.

D. Facsimile (FAX) scans the contents of the document to create

electronic signals.

Answer: C

μ ≥

https://dl.doubtnut.com/l/_WW90ZUfCpaX8
https://dl.doubtnut.com/l/_ZRC3FUYhpoys


Watch Video Solution

9. The essential condition for demodulation is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

vc < < RC

< < RC
1

vc

> > RC
1

vc

vc > > RC

10. In a diode AM detector with the output circuit consists of R=  and

 would be more suitable for detecting a carrier signal of

A. 1MHz

B. 0.1 MHz

1MΩ

C = 1pF

https://dl.doubtnut.com/l/_ZRC3FUYhpoys
https://dl.doubtnut.com/l/_CPHRvjUYB3Hu
https://dl.doubtnut.com/l/_iWuRnkB9iCOW


C. 0.5MHz

D. 10MHz

Answer: D

Watch Video Solution

11. Figure shows a communication system. What is the output power

when input is 1.01 mW? (Gain in ) 


A. 90mW

B. 101mW

C. 1112mW

D. 120mW

Answer: B

dB = 10log10

Po

Pi

https://dl.doubtnut.com/l/_iWuRnkB9iCOW
https://dl.doubtnut.com/l/_ghT9dmAgatQ4


Higher Order Thinking Skills

Watch Video Solution

12. The intensity of a light pulse travelling along a communication

channel decreases exponetially with distance x according to the relation

 where  is the intensity at x=0 and  is the attenuation

constant. The percentage decrease in intensity after a distance of

 is

A. 0.7

B. 0.75

C. 0.8

D. 0.85

Answer: B

Watch Video Solution

I = I0e
−ax I0 α

( )
In4

α

https://dl.doubtnut.com/l/_ghT9dmAgatQ4
https://dl.doubtnut.com/l/_a52UPhbOSDZD


1. An audio signal is modulated by a carrier wave of 20 MHz such that the

bandwidth required for modulation is 3 kHz. Could this wave be

demodulated by a diode detector which has the values of R and C as (i)

.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

R = 1kΩ, C = 0.01μF (ii)R = 10kΩ, C = 0.01μF (iii)R = 10kΩ, C = 1μμ

R = 1kΩ, C = 0.01μE

R = 10kΩ, C = 0.01μF

R = 10kΩ, C = 0.1pF

2. A multimode graded index fibre exhibits total pulse broadening of 0.1

us cover a distance of 1.5km. What is the maximum possible band width

on the link assuming no inter symbol interference?

https://dl.doubtnut.com/l/_pMKfHnzgKHGZ
https://dl.doubtnut.com/l/_4bD7xuJJwUae


A. 10MHz

B. 7.5M Hz

C. 5MHz

D. 2.5MHz

Answer: C

Watch Video Solution

3. Refer figure. Core has refractive index . The cladding

refractive index . In such a case. Will the light beam propagate? 


A. Yes

B. No

μ1 = 1.424

μ2 = 1.39

https://dl.doubtnut.com/l/_4bD7xuJJwUae
https://dl.doubtnut.com/l/_T7DpHjJ3BLwl


C. Data given insufficient to decide

D. the beam propagation is not affected with refractive indices of fibre

core and cladding.

Answer: A

Watch Video Solution

4. Three waves A,B and C of frequencies 1500 KHz. 6MHz and 50 MHz

respectively are to be transmitted from one place to another. Which of

the following is the most appropriate mode of communciation?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

https://dl.doubtnut.com/l/_T7DpHjJ3BLwl
https://dl.doubtnut.com/l/_yqiVvupr68tj


D. B is transmitted via ground wave while A and C are transmitted via

space wave

Answer: B

Watch Video Solution

5. If the sum of the heights of transmitting and receiving antennas in line

of sight of communication is fixed at h, show that the range is maximum

when the two antennas have a height  each.

A. 

B. 2h

C. h

D. 4h

Answer: A

Watch Video Solution

h/2

h/2

https://dl.doubtnut.com/l/_yqiVvupr68tj
https://dl.doubtnut.com/l/_v5SLN5bvVzSd


6. Optical communication system having an operating wavelength 

metre can use only x % of its source frequency as its channel band width.

The system is to be used for transmitting T.V signals requiring a band

width of F hertz. How many channels can this system transmit

simultaneously? Show graphically how this number of channels varies

with operating wavelength of the system.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

λ

λF /Cx

2Cx /100λF

cx/50λF

cx/100λF

https://dl.doubtnut.com/l/_v5SLN5bvVzSd
https://dl.doubtnut.com/l/_EqZ1BKxZ1UUL


7. Estimate the fastest bit rate capable of being carried by light of

wavelength . How many phone calls could be carried at this bit rate

? Band width of optical fibre = 2 GHz.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.3μm

2.9 × 107

1.5 × 106

2.3 × 105

1.7 × 104

8. The carrier freqeuncy of a station is 40 MHz. A resistor of 10k  and

capacitor of CpF are available in the detector circuit. The possible value of

C will be

A. 12

Ω

https://dl.doubtnut.com/l/_8npLOhYe3gC2
https://dl.doubtnut.com/l/_SbADIWRe9WAt


B. 8.2

C. 5.6

D. All of these

Answer: D

Watch Video Solution

9. A ground receiving station is receiving a signal at 6MHz transmitted

from a ground transmitter at a height of 500m located at a distance of

100km. If radius of earth is m, maxim um number density of

electron in ionosphere is . the signal is coming via:

A. ground wave

B. spac e wave

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. satellite transponder

6.4 × 106

1012m− 3

https://dl.doubtnut.com/l/_SbADIWRe9WAt
https://dl.doubtnut.com/l/_jcJTqkCkXglE


Ncert Exemplar

Answer: C

Watch Video Solution

10. The output current of an 80% mondulating amplitude modulated

generator is 1.8A. To what value will the current rise if the generator is

additionally modulated by another audiowave of modulation index 0.6?

A. 1.71A

B. 1.81A

C. 1.91A

D. 2.01A

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jcJTqkCkXglE
https://dl.doubtnut.com/l/_3p6WBMTXg7pK
https://dl.doubtnut.com/l/_oYOwdJ8PfRzm


1. Three waves A,B and C of frequencies 1600 kHz, 5 MHz and 60 MHz,

respectively are to be transmitted from one place to another.Which of the

following is the appropriate mode of communication?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oYOwdJ8PfRzm


2. A  long antenna is mounted on a  tall building. The complex

can become a transmission tower of waves with 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

100m 500m

λ

−400m

−25m

−150m

−2400m

3. A 1kW signal is transmitted using a communication channel which

provides attrenuation at the rate of -2 d B per km. if the communication

channel has a total length of 5 km, the power of the signal received is

gain in 

A. 900W

dB = 10log( )
P0

Pi

https://dl.doubtnut.com/l/_GkL5SzRp84tC
https://dl.doubtnut.com/l/_PCkVNISHULXz


B. 100W

C. 990W

D. 1010W

Answer: B

Watch Video Solution

4. A speech signal of  is used to modulate a carrier signal of

frequency , using amplitude modulation. The frequencies of the

side bands will be

A. 1.003 MHz and 0.997 MHz

B. 3001 KHz and 2997 KHz

C. 1003 KHz and 1000 KHz

D. 1MHz and 0.997MHz

Answer: A

3kHz

1MHz

https://dl.doubtnut.com/l/_PCkVNISHULXz
https://dl.doubtnut.com/l/_HIlaELGZaU9B


Watch Video Solution

5. A message signal of freuency  is superposed on a carrier wave of

frequency  to get an amplititude modulated wave (AM). The frequency

of the AM wave will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ωm

ωc

ωm

ωc

ωc + ωm

2

ωc − ωm

2

https://dl.doubtnut.com/l/_HIlaELGZaU9B
https://dl.doubtnut.com/l/_Y7vDkzBAvauK


6. 1-V characteristics of four devices are shown in figure. 

 


Identify devices that can be used for modulation

A. (i) and (iii)

B. Only (iii)

C. (ii) and some regions of (iv)

D. All the devices can be used

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_eLVy7lW9XdMu


7. A male voice after modulation-transmission sounds like that of a female

to the receiver. The problem is due to

A. poor selection of modulation index (selected )

B. poor bandwidth selection of amplitudes

C. poor selection of carrier frequency

D. loss of energy in transmission

Answer: B

Watch Video Solution

0 < m < 1

8. A basic communication system consists of (A) transmitter (B)

information source (C ) user of information (D)channel (E ) receiver `

Choose the correct sequence in which these are arranged in a basic

communicarion system.

A. ABCDE

https://dl.doubtnut.com/l/_92zW6zg9uFYn
https://dl.doubtnut.com/l/_w29os1uynvWU


B. BADEC

C. BDACE

D. BEADC

Answer: B

Watch Video Solution

9. Identify the mathematical expression for amplitude modulated wave:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ac sin(ωc + k1vm(t)t + ϕ

Ac sin(ωct + ϕ + k2vm(t))

(Ac + k2vm(t))sin(ωct + ϕ)

Acvm(t)sin(ωct + ϕ)

https://dl.doubtnut.com/l/_w29os1uynvWU
https://dl.doubtnut.com/l/_LdOqCUbT0xD1
https://dl.doubtnut.com/l/_fkzkVwiDTNzi


10. Three waves A,B and C of frequencies 1600 kHz, 5 MHz and 60 MHz,

respectively are to be transmitted from one place to another.Which of the

following is the appropriate mode of communication?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fkzkVwiDTNzi


11. A  long antenna is mounted on a  tall building. The complex

can become a transmission tower of waves with 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

100m 500m

λ

−400m

−25m

−150m

−2400m

12. A  signal is transmitted using a communication channel which

provides attenuatiom at the rate of  . If the communication

channel has a total length of  , the power of the signal received is 

[ gain in 

A. 900W

1KW

−2dBperkm

5km

dB = 10 log( )]
P0

Pi

https://dl.doubtnut.com/l/_5CRvzFIMgzXD
https://dl.doubtnut.com/l/_BkkbRBYILZBW


B. 100W

C. 990W

D. 1010W

Answer: B

Watch Video Solution

13. A speech signal of  is used to modulate a carrier signal of

frequency , using amplitude modulation. The frequencies of the

side bands will be

A. 1.003 MHz and 0.997 MHz

B. 3001 KHz and 2997 KHz

C. 1003 KHz and 1000 KHz

D. 1MHz and 0.997MHz

Answer: A

3kHz

1MHz

https://dl.doubtnut.com/l/_BkkbRBYILZBW
https://dl.doubtnut.com/l/_rhS9teQ9OPPm


Watch Video Solution

14. A message signal of freuency  is superposed on a carrier wave of

frequency  to get an amplititude modulated wave (AM). The frequency

of the AM wave will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ωm

ωc

ωm

ωc

ωc + ωm

2

ωc − ωm

2

https://dl.doubtnut.com/l/_rhS9teQ9OPPm
https://dl.doubtnut.com/l/_gvPQgI9oEgly


15. I-V characteristics of four devices are shown in figure. 

 


Identify devices that can be used for modulation

A. (i) and (iii)

B. Only (iii)

C. (iii) and some regions of (iv)

D. All the devices can be used

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0VVT1PhqTYqk


16. A male voice after modulation-transmission sounds like that of a

female to the receiver. The problem is due to

A. poor selection of modulation index (selected )

B. poor bandwidth selection of amplitudes

C. poor selection of carrier frequency

D. loss of energy in transmission

Answer: B

Watch Video Solution

0 < m < 1

17. A basic communication system consists of 

(A) transmitter (B) information source 

(C) user of information (D) channel 

( E) reciever 

Choose the correct sequence in which these are arranged in a basic

communication system.

https://dl.doubtnut.com/l/_eOUnrzOsXPxb
https://dl.doubtnut.com/l/_v2FrlE7N1MUm


A. ABCDE

B. BADEC

C. BDACE

D. BEADC

Answer: B

Watch Video Solution

18. Identify the mathematical expression for amplitude modulated wave

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ac sin(ωc + k1vm(t)t + ϕ

Ac sin(ωct + ϕ + k2vm(t))

(Ac + k2vm(t))sin(ωct + ϕ)

Acvm(t)sin(ωct + ϕ)

https://dl.doubtnut.com/l/_v2FrlE7N1MUm
https://dl.doubtnut.com/l/_ThctKn4Ojh3N


Assertion And Reason

1. Assertion: Telephony is an example of point-to-point communication

mode. 

Reason: In point to-point communication modes, communication takes

place over a link between a single transmitter and a receiver.

Watch Video Solution

2. Assertion: The loss of strength of a signal while propagating through a

medium is known as attenuation. 

Reason: Transmitter helps to avoid attenuation.

Watch Video Solution

https://dl.doubtnut.com/l/_ThctKn4Ojh3N
https://dl.doubtnut.com/l/_FuyAP5fVpbfe
https://dl.doubtnut.com/l/_strlXI501CPP


3. Assertion: Amplification is necessary to compensate for the

attenualtion of the signal in communication system. 

Reason: Amplification is the process of increasing the amplitdue and

consequently the strength of a signal using an electronic circuit.

Watch Video Solution

4. Assertion: The process of retrieval of information from the carrier wave

at the reciever is termed as modulation. 

Reason: Repeater helps to modulate the signals.

Watch Video Solution

5. Assertion: Digital signals are continous variations of voltage of curren

t. 

Reason: Digital signals are essentially single valued functions of time.

A. A and R both are true and R is correct explaination of A

https://dl.doubtnut.com/l/_jl72vbiKmeAm
https://dl.doubtnut.com/l/_X1CeJHxTJHdG
https://dl.doubtnut.com/l/_gKLEPkKhgo5z


B. A is correct but R is wrong

C. A is wrong but R is true

D. Both are wrong

Answer: D

Watch Video Solution

6. Assertion: Microwave communication is preferred over optical

communication. 

Reason: Information carrying capacity is directly proportional to

bandwidth.

A. Both A and R are correct and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

D. Both A and R are wrong

https://dl.doubtnut.com/l/_gKLEPkKhgo5z
https://dl.doubtnut.com/l/_LmmBu2rOjJSK


Answer: A

Watch Video Solution

7. Assertion: The ionosphere layer acts as a reflector for all range of

frequencies. 

Reason: Ionosphere does not allow electromagnetic wav e to penetrate

and escape.

A. Both A and R are correct and R is correct explaination of A

B. A is correct but R is wrong

C. A is wrong but R is correct

D. Both A and R are wrong

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LmmBu2rOjJSK
https://dl.doubtnut.com/l/_mh4IclV0JWxl


8. Assertion: It is possible to transmit signals from one place on the earth

to practically other place on earth. 

Reason: A geostationary satellite orbiting the earth is u sed for

transmission.

A. Both A and R are true and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

D. Both are wrong

Answer: A

Watch Video Solution

9. Statement-1: Short wave band are used for transmission fo radiowaves

to a large distance. 

Statement-2: Short waves are reflected from ionosphere.

https://dl.doubtnut.com/l/_Po307MuL94Ij
https://dl.doubtnut.com/l/_7uPvqAiJrb59


A. Both statement 1 and 2 are correct and 2 is correct explaination of 1

B. 1 is correct but 2 is wrong

C. 1 is wrong but 2 is correct

D. Both are wrong

Answer: A

Watch Video Solution

10. Assertion : The information contained in our original low frequency

baseband signal is to be translated into high or radio frequencies before

transmission. 

Reason: For transmitting a signal, the antenna should have a size

comparable to the wav elength of the signal.

A. A and R both are true and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

https://dl.doubtnut.com/l/_7uPvqAiJrb59
https://dl.doubtnut.com/l/_lKdqrRpnGu6X


D. Both A and R are wrong

Answer: A

Watch Video Solution

11. Assertion: Long distance communication between two points on the

earth is achieved using sky waves. 

Reason: sky wave propagation takes place above. The frequency of 30

MHz.

A. Both A and R are true and R is correct explaination of A

B. A is true but R is wrong

C. A is wrong but R is true

D. Both are wrong

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lKdqrRpnGu6X
https://dl.doubtnut.com/l/_nE30nOWjJpVf


12. Assertion: The television signals are propagated through sky waves.

Reason: Television signals have freqeuncy in the range of 1000MHz to

2000MHz range.

A. a) A and R both are true and R is correct explaination of A

B. b) A is true but R is false

C. c) A is false but R is true

D. d) Both are false

Answer: D

Watch Video Solution

13. Assertion: Space waves are used for line -of -sight communication. 

Reason: Space wave travels in a straight line from transmitting antenna

to the receiving antenna.

A. A and R both are true and R is correct explaination of A

https://dl.doubtnut.com/l/_NpBpgNfOjPaS
https://dl.doubtnut.com/l/_H7mAdIwSFRkG


B. A is true but R is false

C. A is false but R is true

D. Both are false

Answer: A

Watch Video Solution

14. Assertion: When the height of a TV transmission tower is increased by

three times. The range covered is doubled. 

Reason: The range covered is proportional to the height of the TV

transmission tower.

A. a) A and R both are true and R is correct explaination of A

B. b) A is true but R is false

C. c) A is false but R is true

D. d) Both A and R are false

https://dl.doubtnut.com/l/_H7mAdIwSFRkG
https://dl.doubtnut.com/l/_Mpn8iLsv5cLI


Answer: C

Watch Video Solution

15. Assertion: AM detection is the process of recovering the modulating

signal from amplitude modulated waveform wich is carried out using a

rectifier and an evelope detector. 

Reason: Amplitude modulated waves can be produced by application of

the message signal and the carrier wave to a non-linear device followed

by band pass filter.

A. a) A and R both are true and R is correct explaination of A

B. b) A is true but R is false

C. c) A is false but R is true

D. d) Both A and R are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Mpn8iLsv5cLI
https://dl.doubtnut.com/l/_GKlHRbP4W3sF


16. Assertion: Telephony is an example of point-to-point communication

mode. 

Reason: In point to-point communication modes, communication takes

place over a link between a single transmitter and a receiver.

Watch Video Solution

17. Assertion: The loss of strength of a signal while propagating through

a medium is known as attenuation. 

Reason: Transmitter helps to avoid attenuation.

Watch Video Solution

18. Assertion: Amplification is necessary to compensate for the

attenualtion of the signal in communication system. 

Reason: Amplification is the process of increasing the amplitdue and

consequently the strength of a signal using an electronic circuit.

https://dl.doubtnut.com/l/_GKlHRbP4W3sF
https://dl.doubtnut.com/l/_Mb2ofhC5Mu9E
https://dl.doubtnut.com/l/_zPYrSs7KvRva
https://dl.doubtnut.com/l/_nVQYOfX4vCll


Watch Video Solution

19. Assertion: The process of retrieval of information from the carrier

wave at the reciever is termed as modulation. 

Reason: Repeater helps to modulate the signals.

Watch Video Solution

20. Assertion: Digital signals are continous variations of voltage of curren

t. 

Reason: Digital signals are essentially single valued functions of time.

Watch Video Solution

21. Assertion: Microwave communication is preferred over optical

communication. 

Reason: Information carrying capacity is directly proportional to

bandwidth.

https://dl.doubtnut.com/l/_nVQYOfX4vCll
https://dl.doubtnut.com/l/_020p15OAjFU4
https://dl.doubtnut.com/l/_ph0mm4kaGrlP
https://dl.doubtnut.com/l/_q9dMrRxl65zW


Watch Video Solution

22. Assertion: The ionosphere layer acts as a reflector for all range of

frequencies. 

Reason: Ionosphere does not allow electromagnetic wav e to penetrate

and escape.

Watch Video Solution

23. Assertion: It is possible to transmit signals from one place on the

earth to practically other place on earth. 

Reason: A geostationary satellite orbiting the earth is u sed for

transmission.

Watch Video Solution

24. Assertion: Short wave hands are used for transmission of radio wave

to a large distance. 

https://dl.doubtnut.com/l/_q9dMrRxl65zW
https://dl.doubtnut.com/l/_JYVgTU6IfPF7
https://dl.doubtnut.com/l/_1J4v4GtuzOiL
https://dl.doubtnut.com/l/_tNC1yEpRX0AX


Reason: Short waves are reflected from ionosphere.

Watch Video Solution

25. Assertion : The information contained in our original low frequency

baseband signal is to be translated into high or radio frequencies before

transmission. 

Reason: For transmitting a signal, the antenna should have a size

comparable to the wave length of the signal.

Watch Video Solution

26. Assertion: Long distance communication between two points on the

earth is achieved using sky waves. 

Reason: sky wave propagation takes place above. The frequency of 30

MHz.

Watch Video Solution

https://dl.doubtnut.com/l/_tNC1yEpRX0AX
https://dl.doubtnut.com/l/_yuxI7hZyphMG
https://dl.doubtnut.com/l/_HMoFiFQvl9P6
https://dl.doubtnut.com/l/_nywELsFpKqLH


27. Assertion: The television signals are propagated through sky waves.

Reason: Television signals have freqeuncy in the range of 1000MHz to

2000MHz range.

Watch Video Solution

28. Assertion: Space waves are used for line -of -sight communication. 

Reason: Space wave travels in a straight line from transmitting antenna

to the receiving antenna.

Watch Video Solution

29. Assertion: When the height of a TV transmission tower is increased by

three times. The range covered is doubled. 

Reason: The range covered is proportional to the height of the TV

transmission tower.

A. A and R are true and R is the correct explanation

https://dl.doubtnut.com/l/_nywELsFpKqLH
https://dl.doubtnut.com/l/_KKZzk95dwZV3
https://dl.doubtnut.com/l/_vVIA5ScoeRVl


B. Both A and R aer true but reason is not the correct explanation

C. a is true R is false

D. Both A and R are true

Answer: C

Watch Video Solution

30. Assertion: AM detection is the process of recovering the modulating

signal from amplitude modulated waveform wich is carried out using a

rectifier and an evelope detector. 

Reason: Amplitude modulated waves can be produced by application of

the message signal and the carrier wave to a non-linear device followed

by band pass filter.

Watch Video Solution

https://dl.doubtnut.com/l/_vVIA5ScoeRVl
https://dl.doubtnut.com/l/_o6MmyJgNCUPs

